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EXERCISE 9.1 PAGE: 382
Determine order and degree (if defined) of differential equations given in Exercises 1
to 10
: 4

1 d—: +sin(y")=0

dx
Solution:
The given differential equation is,

9
'y +sin(y") =0
dx* ‘
=y +sin(y”’)=0
The highest order derivative present in the differential equation is y"’”’, so its order is
three. Hence, the given differential equation is not a polynomial equation in its
derivatives and so, its degree is not defined.

77

2777

2.y +5y=0

Solution:

The given differential equationis,y’+ 5y =0

The highest order derivative present in the differential equation is y’, so its order is one.
Therefore, the given differential equation is a polynomial equation in its derivatives.

So, its degree is one.

4 2
3. [ﬁ\ 1395

2

dt ) dr’
Solution:-

The given differential equation is,

{E | 43475 g

dt ) ar’ ,

ds

The highest order derivative present in the differential equation is ;2 .

The order is two. Therefore, the given differential equation is a polynomial
. . 2
equationin s and ds.

dt’ dt
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So, its degree is one.

2y Y ]

d-vy dy

4. — | +cos| — |= 0
dx dx

Solution:-

The given differential equation is,

d’y ’ dy
' +c05(—' =0

dx? dx 5
d*y
The highest order derivative present in the differential equation is dv?

The order is two. Therefore, the given differential equation is not a polynomial.
So, its degree is not defined.

2
d-y :
3. —— =cos3x+sin3x

dx”

Solution:-

The given differential equation is,

d*y :
— =08 3x +sin 3x
dx”
d?y ,
= —— — 083X —sin3x =0
dx?

2
d”y
The highest order derivative present in the differential equation is Al

The order is two. Therefore, the given differential equation is a polynomial

72
equation in d-) and the power is 1.

2
dx
Therefore, its degree is one.

6. (y”)? +(y’)P +(y)* +y>=0
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Solution:

The given differential equationis, (y"”’)%+ (y”’)* + (y')* +y>=0

The highest order derivative present in the differential equation is y’”’.

The order is three. Therefore, the given differential equation is a polynomial
equationiny’”’,y” and y’.

Then the power raised to y'”’ is 2.

Therefore, its degree is two.

7.y +2y" +y' =0

Solution:

The given differential equationis, y"”’ + 2y +y' =0

The highest order derivative present in the differential equationisy’”.

The order is three. Therefore, the given differential equation is a polynomial
equationiny’”’,y” and y'.

Then the power raised to y"” is 1.

Therefore, its degree is one.

277

8.y +y=e*

Solution:

The given differential equation is, y’ +y = e*
=y +y—e*=0

The highest order derivative present in the differential equationisy’.
The order is one. Therefore, the given differential equation is a polynomial equation in

’

Y.
Then the power raised to y’ is 1.
Therefore, its degree is one.

9.V’ +(y')*+2y=0

Solution:

The given differential equationis, y””’ + (y')? +2y =0

The highest order derivative present in the differential equation is y”.

The order is two. Therefore, the given differential equation is a polynomial equation in
y’andy’.

Then the power raised to y” is 1.

Therefore, its degree is one.

10.y"”’ + 2y’ +siny=0
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Solution:-

The given differential equationis, y"”’ + 2y’ +siny =0

The highest order derivative present in the differential equation is y”.

The order is two. Therefore, the given differential equation is a polynomial equation in
y’andy’.

Then the power raised to y” is 1.

Therefore, its degree is one.

277

11. The degree of the differential equation.

2% 7 du? ly
(“; ; : +L%]| +5in({::—}J+l:ﬂ is
dx ,-'I aax ).J iax

(A)3 (B) 2 (C)1 (D) not defined
Solution:-

(D) not defined

The given differential equation is,

2.8 o\ i
i ; :+Lﬂ]| +sin 24 +1=0
dx” | dx | dx {-,-’gy

The highest order derivative present in the differential equation is dv?

The order is three. Therefore, the given differential equation is not a polynomial.
Therefore, its degree is not defined.

12. The order of the differential equation

2
2x? e : -3 % +y=0 is
dx” dx
(A) 2 (B) 1 (C)o (D) not defined
Solution:-
(A) 2
The given differential equation is,
2
e L g
dx” dx a2y
The highest order derivative present in the differential equation is 5 -
Therefore, its order is two. dx
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EXERCISE 9.2 PAGE: 385
In each of the Exercises 1 to 10 verify that the given functions (explicit or implicit) is a
solution of the corresponding differential equation:
l.y=ex+1:y"-y'=0
Solution:-
From the question it is giventhaty =e*+1
Differentlatlng both sides with respect to x, we get,
Y2 -
dx ... [Equation (i)]

Now, differentiating equation (i) both sides with respect to x, we have,

d |, d
dx (y') = E[E )
=y’ =e
Then,
Substituting the values of y’ and y” in the given differential equations, we get,
y’ —y =e*-e*=RHS.
Therefore, the given function is a solution of the given differential equation.

2.y=x*+2x+C:y'-2x-2=0

Solution:-

From the question it is given thaty = x> + 2x + C
Differentiating both sides with respect to x, we get,

d
r__ 2
y _—dX[x +2x+C)

y =2x+2
Then,
Substituting the values of y’ in the given differential equations, we get,
=y —2x-2
=2X+2—-2x-2
=0
= RHS
Therefore, the given function is a solution of the given differential equation.

3.y=cosx+C:y' +sinx=0
Solution:-
From the question it is given thaty =cos x + C
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Differentiating both sides with respect to x, we get,
d
''=— +C
V= (cosx+ C)

y’ =-sinx
Then,
Substituting the values of y’ in the given differential equations, we get,
=y’ +sinx
= - sinx + sinx
=0
= RHS
Therefore, the given function is a solution of the given differential equation.

4.y =V(1+x3):y = ((xy)/(1+x?))
Solution:-

From the question it is given thaty = V1 + X2

Differentiating both sides with respect to x, we get,

- ()

y =£
1 d
=y = —(1+x?
y 241 + x2 dx( )

By differentiating (1 + x%) we get,

2%
21+ x2

=y

On simplifying we get,

By multiplying and dividing V(1 + x%)

X
I f
= %41 +x2
1+x27V

=¥

Substituting the value of V(1 + x?)
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Substituting the value of V(1 + x?)

, X
=Y = l—l—xz'y
=y = Xy

1+ x2

Therefore, LHS = RHS

Therefore, the given function is a solution of the given differential equation.

5.y=Ax:xy'=y(x%0)

Solution:-

From the question it is given that y = Ax
Differentiating both sides with respect to x, we get,

. d
y —EU’LX)

y =A
Then,
Substituting the values of y’ in the given differential equations, we get,
= xy’
=X xA
= Ax
=Y ... [from the question]
= RHS
Therefore, the given function is a solution of the given differential equation

6.y =xsinx: xy’ =y +x (V(x2-y?)) (x # 0 and x>y or x< - y)
Solution:-
From the question it is given that y = xsinx

Differentiating both sides with respect to x, we get,
., d

V' = & (xsinx)

I : d :
=y =sinx (x) + Xo (sinx)

=y = §iNX + XCOSX
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Then,

Substituting the values of y' in the given differential equations, we get,

LHS = xy’ = x(sinx + xcosx)

= Xsinx + x*cosx

From the question substitute y instead of xsinx, we get,

—y+X°.V1—sin?x
Vv 2

=y+x* [1-(=
y 5

=y +x/(y)2 - (x)?

= RHS

Therefore, the given function is a solution of the given differential equation

e
7.xy=logy+C: V= | _ i (xy# 1)

Solution:-
From the question it is given that xy = logy + C

Differentiating both sides with respect to x, we get,

d d
dx (xy) = dx (logy)

d dy 1dy

On simplifying, we get.

1d
=}y+xy’=;d—i

By cross multiplication,
=y +xyy =y
= (xy—1)y' =y’
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=y =y
1-xy
By comparing LHS and RHS

LHS = RHS

Therefore, the given function is the solution of the corresponding differential
equation.

8.y—-cosy=x:(ysiny+cosy+x)y' =y
Solution:-
From the guestion it is given that y — cosy = x

Differentiating both sides with respect to x, we get,

dy d _d()
Lcosy = (x

dx d dx
= vy +siny.y' =1
=y (1+siny)=1

=y =

1

1+siny

Then,

Substituting the values of y' in the given differential equations, we get,
Consider LHS = (ysiny + cosy + x)y’

1

= (ysiny + cosy + vy — cosy) X TSHW

= y(1+ siny) x %ﬂlll}’
On simplifying we get,

=Y

= RHS

Therefore, the given function is the solution of the corresponding differential
equation.
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9.x+y=tanly:y’y' +y*+1=0
Solution:-
From the question it is given that x + y = tan™y

Differentiating both sides with respect to x, we get,

d d
il _ -1
= (x+y) = (tan™"y)

1
<oy fe il

By transposing y’ to RHS and it becomes —y' and take out ¥’ as common for
both, we get,

1
T
1] -
=7 [1 +y?
On simplifying,

Jr—(+yH) .,
1+y2 |

| v
1+y?
. —(1+y?)

=1

=¥

Then,
Substituting the values of y' in the given differential equations, we get,
Consider, LHS = y?y' +y* +1

_ 2 [_{l}r;:'z]] +y2+1

=-1-y'+y*+1

=0

= RHS

Therefore, the given function is the solution of the corresponding differential equation.
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dy
Vi 1,‘ 2 _2xe(aa): x+y—=0@=z0)
10. . a X . :

x
Solution:-

From the question it is given that ¥ = V az —x?

Differentiating both sides with respect to x, we get,

dy_d
2 2
ol (xf x?)

d}f 1
(a —-x%)
dx g‘jaz —x2 2 dx

1
=—(—2%
2va? — x? ( )

—X

2ya? — x2

Then,
Substituting the values of y' in the given differential equations, we get,

Consider LHS =x + y%

—X

——

=X+ 432 —x2x ——
v 24/ a? — x?

On simplifying, we get,
=X—X
=0
By comparing LHS and RHS
LHS = RHS.
Therefore, the given function is the solution of the corresponding differential

equation.

11. The number of arbitrary constants in the general solution of a differential equation
of fourth order are:

(A)O (B) 2 (€3 (D)4
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Solution:-

(D) 4

The solution which contains arbitrary constants is called the general solution (primitive)
of the differential equation.

12. The number of arbitrary constants in the particular solution of a differential
equation of third order are:

(A)3 (B) 2 (€)1 (D)0

Solution:-

(D)0

The solution free from arbitrary constants i.e., the solution obtained from the general
solution by giving particular values to the arbitrary constants is called a particular
solution of the differential equation.
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EXERCISE 9.3 PAGE: 391
In each of the Exercises 1 to 5, form a differential equation representing the given

family of curves by eliminating arbitrary constants a and b.
X v

1. 4+ - =]
a b

Solution:-

From the question it is given that z + % =1

Differentiating both sides with respect to x, we get,
1 1dy
—+-"=0
a bdx
11,
— — =
a by ... [Equation (i)]

Now, differentiating equation (i) both sides with respect to x, we get,

1,
D+E}’ =0
1 "
:}E}J =1

By cross multiplication, we get,
=y'=0

“the required differential equation is y"' = 0.

2.y*=a(b?-x?
Solution:-
From the question it is given that y* = a(b® — x?)

Differentiating both sides with respect to x, we get,
dy
2y—=a(—2
y o =a(=2x)
= 2yy’ =-2ax

= yy' = (-2/2)ax
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Now, differentiating equation (i) both sides, we get,

Sy Xy +yy”=-a

= (Y)Y +yy' =-a ...[we call it as equation (ii)]
Then,

Dividing equation (ii) by (i), we get,

() +yy" _—a
vy’ —ax
= x(y')* +xyy” =yy
Transposing yy' to LHS it becomes —yy’
= xyy” +x(y')*—yy' =0
= the required differential equation is xyy” + x(y')* — yy’ = 0.

3.y=ae*+ be
Solution:-

From the question it is given that y = ae®™ + be™  _.. [we call it as equation (i)]

Differentiating both sides with respect to x, we get,
y' = 3ae® - 2he ... [equation (ii)]
Now, differentiating equation (ii) both sides, we get,
vy = 9ae® + 4be™ ... [equation (iii)]
Then, multiply equation (i) by 2 and afterwards add it to equation (ii),
We have,
= (2ae™ + 2be™) + (3ae¥ - 2be ) = 2y + V'
= Gae* =2y +y

r
x_2Y 1Y
5

= de

So now, let us multiply equation (ii) by 3 and subtracting equation (ii),
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We have
= (3ae™ + 3be™™) - (3ae®™ - 2be ) =3y -y

= 5he® =3y -y

r

—2x

Substitute the value of ae**and be® iny”,

2y +yr
‘5,!":9}( 2}':"}”_'_4:,(#

=] p= ]

. 18y + 9y’ . 12y — 4y’

=Y 5 5

On simplifying we get,

. 30y +5y
=y =——
5
=y =6yty

=y' -y -6y=0

“the required differential equation isy” —vy' - 6y =0.

4.y =e* (a+bx)

Solution:-
From the question it is given thaty = e** (a+ b x) ... [we call it as equation (i)]
Differentiating both sides with respect to x, we get,

y =2eZ(a+bx)+eX*xb ... [equation (ii)]

Then, multiply equation (i) by 2 and afterwards subtract it to equation (ii),
We have,

y' —2y =e*(2a + 2bx + b) —e* (2a + 2bx)

y -2y = 2ae¥ + 2e¥bx + e¥b — 2ae? - 2bxe*

y’ — 2y = be* ... [equation (iii)]
Now, differentiating equation (iii) both sides,
We have,

=y’ =2y = 2be* ... [equation (iv)]

Then,
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Dividing equation (iv) by (iii), we get,
"o 2 r
F; Yy _ 5
y' —2y

By cross multiplication,

= y” _ z}fl‘ — zyl_ 4y
Transposing 2y’ and -4y to LHS it becomes — 2y’ and 4y
=y -4y —4y=0

“ the required differential equation is y” — 4y’ —4y = 0.

5.y =¢e"*(acos x + b sinx)
Solution:
From the question it is given that y = e*(a cos x + b sin x)
... [we call it as equation (i)]
Differentiating both sides with respect to x, we get,
=y’ =e*(a cos x + b sin x) + e*(-a sin x + b cos x)

=y =e*[(a+ b)cos x—(a—b) sin x)] ... [equation (ii)]
Now, differentiating equation (ii) both sides,
We have,

y” = e*[(a + b) cos x — (a — b)sin x)] + e*[-(a + b)sin x — (a — b) cos x)]
On simplifying, we get,

= vy” = e*[2bcosx — 2asinx]

= y” = 2e*(b cos x — a sin x) ... [equation (iii)]
Now, adding equation (i) and (iii), we get,

v+ % = e*[(a+ b)cosx — (a — b)sinx]

y
y+5=vy

r

=2y +y" =2y

Therefore, the required differential equationis 2y + y" = 2y'=0.

6. Form the differential equation of the family of circles touching the y-axis at origin.
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Solution:
A
Y
< £
X O (p,0) X"
Yv

By looking at the figure we can say that the center of the circle touching the y- axis at

origin lies on the x — axis.

Let us assume (p, 0) be the centre of the circle.

Hence, it touches the y — axis at origin, its radius is p.

Now, the equation of the circle with centre (p, 0) and radius (p) is
= (x—p)* +y*=p?
= X2+ p2—2xp + y? = p?

Transposing p? and — 2xp to RHS then it becomes — p? and 2xp
= x? +y* = p*— p* + 2px

= x2 +y? = 2px ... [equation (i)]
Now, differentiating equation (i) both sides,
We have,

= 2x+2yy' =2p

=>Xx+yy =p

Now, on substituting the value of ‘p’ in the equation, we get,
= x2+y2=2(x +yy')x
= 2xyy + X2 = y?

Hence, 2xyy’ + x* = y? is the required differential equation.

7. Form the differential equation of the family of parabolas having vertex at origin and

axis along positive y-axis.

Solution:

The parabola having the vertex at origin and the axis along the positive y- axis is
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x? = day ... [equation (i)
A
Y
‘X’ o X>
Yv
Now, differentiating equation (i) both sides with respect to x,
2x = day’ .. [equation (ii)]
Dividing equation (ii) by equation (i), we get,
2x  4ay’
—=— = —
X% 4ay
On simplifying, we get,
2y
- — ==
X ¥

By cross multiplication,
= xy =2y

Transposing 2y to LHS it becomes -2y.
=xy —2y=0

Therefore, the required differential equation is xy’ — 2y = 0.

8. Form the differential equation of the family of ellipses having foci on y-axis and

centre at origin.
Solution:
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By observing the figure we can say that, the equation of the family of ellipses
having foci on y — axis and the centre at origin.

X ¥
b T 1 .. [equation (i)]

Now, differentiating equation (i) both sides with respect to x,

2x  2yy
_i_
b2 ' a2

I
'_':"_":" =0

=0

.. [equation (ii)]
Now, again differentiating equation (ii) both sides with respect to x,

Y y'+yy"
b* a?
On simplifying,
1
bz

1

=§——%y+w)

Now substitute the value in equation (ii), we get,

=0

@”+wﬁ~ﬂ

| N ) vy’
xl—;(y + yy )] +¥=D
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On simplifying,
= -x(Y)—xyy” +yy' =0
= xyy” +x(y')?—yy =0
Hence, xyy” + x (y')?—vyy’ = 0 is the required differential equation.

9. Form the differential equation of the family of hyperbolas having foci on x-axis and
centre at origin.

Solution:
By observing the figure we can say that, the equation of the family of

hyperbolas having foci on x — axis and the centre at origin is

2] L)
= =

T _¥Y _q
=z b . [equation (i)]
A
Y
<+ 5 x>
b
Yv
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Now, differentiating equation (i) both sides with respect to x,

2x  2yy
g
a b?
S
az b .. [equation I.{Il)]

Now, again differentiating equation (ii) both sides with respect to x,

L yy+w _,

a2 b2
On simplifying,
1 1 G 0
= — — — = =
ag hg y WJ

1 1 .- B
§=b—3(}’ +yy")

Now substitute the value in equation (ii), we get,

r

X o -W';
— +yw') ——==0
5z (T +wy") —3
= x(y')* +xyy”-yy' =0
= xyy” +x(y')>—yy' =0
Hence, xyy” + x (y’)?> — yy’ = Ois the required differential equation.

10. Form the differential equation of the family of circles having centre on y-axis and
radius 3 units.

Solution:
Y‘“
09
©.a)|,
< X (o] X=
b
Yy
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Let us assume the centre of the circle on y — axis be (0, a).
We know that the differential equation of the family of circles with centre at (0, a) and
radius 3 is: x2 + (y- a)? = 32

=>x2+(y-a)’=9 ... [equation (i)]
Now, differentiating equation (i) both sides with respect to x,

= 2x+2(y—a)xy =0 .. [dividing both side by 2]

=>x+(y-a)xy =0
Transposing x to the RHS it becomes — x.

= (y—a)xy =x

—Sy—a=_—>

}I'."

Now, substitute the value of (y - a) in equation (i), we get,

2 —X)?
X +(?) =9

Take out the x* as common,

= x? [1 + [;’-)2] =9

On simplifying,
=X ((y')* + 1) = 9(y')*
= -9 (V) +x*=0
Hence, (x* —9) (y')* + x* = 0 is the required differential equation.

11. Which of the following differential equations has y = c; e* + c¢? e* as the general
solution?

12 12+ g2 725
(A) f _':—i-_‘u‘:{] (B) x ;:—jr:(} (C) n :—l-l:[:' (D) : ':—1:0
ax: dx” dx” dx”
Solution:
d*y
B ——yv=0
(B) P
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Explanation:
From the question it is given that y = c1e* + cze™

Now, differentiating given equation both sides with respect to x,

dy
— =8 —ce7F

dx .. [equation (i)]

Now, again differentiating equation (i) both sides with respect to x,

d?
i c,e°+ e
&y _
—axz Y
dz
a0
2
Hence, E — ¥ = 0is the required differential equation.

12. Which of the following differential equations has y = x as one of its particular
solution?

A) dz}.—rlﬁir V=X (B lﬂrz'T%H;ﬁwL Xy =X
( At de ) d: dx
d*y . dy d*vy dvy
(C ——x"——+xy=0 D —+x—+xy=0
R P (D) 2 - T
dx dx dx dx
Solution:
G d’y ,dy r 0
e X —TXxXy=
() i dx

Explanation:
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From the question it is given that y = x
Now, differentiating given equation both sides with respect to x,

dy _1
dx ... [equation (i)]

Now, again differentiating equation (i) both sides with respect to x,

dE

dy_

dx?
Then,

. dy d3y . ) .
Substitute the value of ™ andﬁ in the given options,

d’y _,dy

2

——x2—+

dx? x dx Xy

=0—-(x*%x 1)+ (xxx)

= %2 + x2

=0
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EXERCISE 9.4 PAGE NO: 395

For each of the differential equations in Exercises 1 to 10, find the general solution:
1 dy _1—cosx

dx 1+cosx

Solution:
Given
dy 1 —cosx
= — = —
dx 1 + cosx
We know that 1 —cos x = 2 sin” (x/2) and 1 + cos x = 2 cos® (x/2)
Using this formula in above function we get

. o X
E _ 2 sin 5
dx 21:0512%

We have sin x/cos x = tan x using this we get

dy X
= — = tan’-
dx 2

From the identity tan®x =sec?x — 1, the above equation can be written as

Y _ gec?®_
= = (sec > 1)

Now by rearranging and taking integrals on both sides we get

X
= J-dy = J-seczi dx—fdx

On integrating we get

X
= y = 2tan E—x +cC

dy -
280 _ Ja—y? (=2<y<2)

dx
Solution:
Given

dy —
= d_ = -\,14 — }72
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On rearranging we get

dy 4
;‘*—W— X

Now taking integrals on both sides,
[ 75
= | —— = X
Va—Y?

We know that,

J‘ 1 d X

= | ———dx = sin""-

\In'az —_ XZ a

Then above equation becomes
-1 E

sin =X+
= 2

dvy

3. —+y=1(y=1)
dx
Solution:
dy + 1
“ax YT
On rearranging we get
= dy=(1-vy)dx
Separating variables by variable separable method we get
d
= v = dx
1-y

Now by taking integrals on both sides we get

= J’d_}’ = J-dx

1-y
On integrating
=-log(l-y)=x+logc
=-log(l-y)—logc=x
=log(l-y)c=-x
= (1-y)c = ™
Above equation can be written as

https://byjus.com
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= (1-y) =<
yv=1+ %e‘“
Y=1+Age™

4.sec’ xtan ydx +sec’ ytanx dy =0

Solution:

Given

= sec’xtany dx + sec?ytanx dy
Dividing both sides by (tan x) (tan y) we get
sec’xtanydx ~ sec” ytanx dy

tanxtany tanxtany
On simplification we get

sec’xdx  sec’ydy
= - =

tanx tany
Integrating both sides,

sec’x dx sec’y dy
= J- tanx J- tany
= lettanx=t&tany=u
Then

sec’x dx = dt&sec’ydy = du

By substituting these in above equation we get

dt du
Tt Ju

On integrating

= logt=-logu+logc

Or,
= log (tan x) =-log (tany) + log c
C
logt = log——
= logtanx Dgtany

= (tanx) (tany)=c
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s(e+e)dy—(ef—e)dx=0

Solution:
Given
= (e + e M)dy— (eX—e™)dx =0
On rearranging the above equation we get
(e* —e™)dx
ex 4 X

Taking Integrals both sides,

(e* —e™)dx
= J-dy = J- —

e¥ + e7X

Now let (& + €7 =¢
Then,(ex —e¥)dx = dt
dt
t

On integrating

- d:-:_l
o R 0gx

= dy =

.'.}T =

So,

=y=logt

Now by substituting the value of t we get
= y = log(e® + e™) 4

1y )
5-%:{1+,\:2]{l+)*‘}
ax

Solution:

dy 2 2
= —=(1+x")(1+

| ( (1+y7)

Separating variables by variable separable method,
dy
=
1+ y?
Now taking integrals on both sides,

https://byjus.com
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dy 5
=:-J-1+F2—J-dX+J-XdX

On integrating we get

P
= X — C
y 3

= tan—*

7.vilogydy —xdy=10

Solution:

Given

ylogydx—xdy=0

On rearranging we get

= (ylogy) dx =xdy

Separating variables by using variable separable method we get
dx dy

== — =

X ylogy
Now integrals on both sides,

dx J’ dy
—1 _— =

X ylogy

= let logy =t
Then

1[1 dt
= — =

- Y

dt

= logx = | —

= logx+logc=logt

Now by substituting the value of t

= log x + log c = log (log y)

Now by using logarithmic formulae we get
= logcx=logy

= logy=cx

=y = e
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Separating variables by using variable separable method we get

dy
Fo L e _1‘5
dx
Solution:
Given
dy
s.¥ _ 5
= X I v
dy —dx
Ty T xS
On rearranging
dy dx

Integrating both sides,
- [E+ [S-a
Let a be a constant,

= J-y‘E‘dy + J-X_de = a
On integrating we get
= —4y*—4x7* +

On simplification we get
4 _F—q- _—

d

= —X

The above equation can be written as

1 1
E + F = C
dy st

9. & —gin7'x
dx

Solution:

Given

= @ = sin"'x
dx

NCERT Solutions For Class 12 Maths Chapter 9
Differential Equations
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Separating variables by using variable separable method we get
= dy = sin"!xdx
Taking integrals on both sides,

= J-dy = J-sin‘lx dx

Now to integrate sin™*x we have to multiply it by 1
to use product rule

fuvdg = ufvdx— | (iu) ([ vdx)dx}
Then we get

=y = f 1.sin"txdx

According to product rule and ILATE rule, the above equation can be written as
d

~y = {sin”! :{J- l.dx— J-(Esin‘l X) (J- 1.dx)dx}

On integrating we get

X
-
= y = xsin"'x— J- dx
V1 —x2

Now

= letl—x% =t

Then

= —2xdx = dt
dt

= xdx = —E

Substituting these in above equation we get

1
L —1
= = xsin""x + | —=dt
y J-zﬁ

On simplification above equation can be written as
1 2
= y = xsin"'x + EJ-t 3 dt

1
= y = xsin"'x + Ewﬁ +c

Substituting the value of t, we get

=y =xsin'x + J1—-x2 + ¢

https://byjus.com


https://byjus.com/?utm_source=pdf-click
https://byjus.com/?utm_source=pdf-click

NCERT Solutions For Class 12 Maths Chapter 9

m BYJ U'S Differential Equations

The Learning App

10. e tan y dx + (1 — ") sec? ydy =0

Solution:

Given

= e*tanydx + 1(1—e¥)sec’ydy =

On rearranging above equation can be written as

= (1—e¥)sec’ydy = —e*tanydy = 0

Separating the variables by using variable separable method,

sec’y e*
= dy = dx
tan y C1—ex
Now by taking integrals on both sides, we get
J’sec y J’ e "
= dx
tany 1—ex

lettany=tand 1—-e*=u

Then on differentiating

(sec’ydy = dt)& (e*dx = du)
Substituting these in above equation we get

J’ dt du

On mtegratlng we get

= logt=logu+logc

Substituting the values of t and u on above equation.
= log(tany) = log(1—e*) + logc

= logtany = logc(1l—e*)

By using logarithmic formula above equation can be written as

= tany = c(1-—e¥)

For each of the differential equations in Exercises 11 to 14, find a particular solution

Satisfying the given condition:

oy B dy )
11.{x" +x +x+ I}T = 2+ x V= 1 whenx=10
ax

Solution:

https://byjus.com
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Given
=}{x3+x2+x+ l)%z 2x% + X
Separating variables by using variable separable method,
2x% + x
G+ D+ D>
Taking integrals on both sides, we get
2x% + x
= J-dy T x+DEE+ D & e 1
Integrating it partially using partial fraction method,

= dy =

2x? + x A Bx + C
= = +
(x+ D)(x2+1) x+1 x2+1
2x% + X% Ax? + A(Bx + O)(x + 1)
T xrDEEED) x + D+ 1)

= 2x* + X =Ax"+ A+ Bx + Cx + C

= 2x+x=A+Bx*+(B+Cx+A+C
Now comparing the coefficients of x* and x
=>A+B=2

=B+C=1
=A+C=0
Solving them we will get the values of A, B, C
1 3 1
AZE’BZE’C:_E
Putting the values of A, B, Cin 1 we get
2x% + x 1 1 13x—1

— + =
T H+DEE+ 1) 2(x+ 1) 2%+ 1
Mow taking integrals on both sides

J’d 1J- 1 +1J’3x—1d
=1 = — —
Y = x+1 ¥ "3+ 1 *

On integrating

_11 1 +3J’ X q IJ‘ dx
Sy =glegx+ D)+ o) Ty ot

1 3 2x 1
:~y=510g(x+ 1)+Efx9+1dx_§tan X ,
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For second term
letx? + 1 =t
Then, 2x dx = dt

3J- x . 3[dt
Y e
[ = logt
so,I = - log

Substituting the value of t we get
3
I = Elog{xz + 1)
Then 2 becomes
1 3 1
=y = Eng{X + 1) + Zlog{xg + 1) —Etan‘lx +c

Taking 4 common

1 1
=y = E[Elﬂg{){ + 1) + 3log(x* + 1)]—5’&&11_1:{ +c

1 1
=y = E[lﬂg{:{ + 1)% + log(x* + 1)7] —Etan‘lx +c

1 3 1
=y = E[lﬁg{(x + 1)%(x* + 1} —Etan‘lx +c- ;

Now, we are given thaty =1 whenx=0
1 1
~ 1= 2 [log{(0 + 1)? (0% + 1D} - Etan‘l 0 +c
1 1

l1=—-x0—2-x0+c
4 2

Therefore,
C=1
Putting the value of cin 3 we get

1 1
y = 5[1ﬁg{(x + 1)?(x* + 15}] —Etan‘lx +1

: dy
12. x (x7 - H=-=liy=0whenx=2

Solution:
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Given
dy
2 —
x(x° + 1)_dx =1

Separating variables by variable separable method,

dx
= dy = x(x2 + 1)
%2+ 1 can be written as (x + 1) (x — 1) we get
dx
= dy =

X(x + 1)(x—1)
Taking integrals on both sides,

J’d B J’ dx
T T IxE+DE-D 4
Now by using partial fraction method,

1 A+ B N C
= —
X(x+ -1 x x+1 x-1 5

1 Ax—1D(x+ 1) +B)E-1) + C(x)(x+ 1)
= =
X(x+ (-1 X(x + D(x—1)
Or
1 (A+ B+ Cx*+ (B—Cx—A
T xx+ DE-1 x(x + D(x—1)
Now comparing the values of A, B, C
A+B+C=0
B-C=0
A=-1

Solving these we will get thatB=%and C=}
Now putting the values of A, B, Cin 2

1 1 N 1( 1 ) N 1( 1
= = —— — —
X(x+ 1)(x—1) Xx 2% +1 2\x—1
Now taking integrals we get

Jav = - [zae+ 5[ () ax+ 5/ (
A B B I Py A B )

On integrating

1 1
=y = —logx + ilﬂg(x + 1) + Elﬂg(x—l) + logc
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Now we are given thaty =0whenx =2

[c?{z— D2+ 1)

We know e = 1 by substituting we get

0 11
= —lo
> g
log>C —
= log— =
87
3c?
== — =
4
= 3¢ = 4
= ¢? = 4/3
Now putting the value of c?in 3
Then,
[ 4(x—1)(:
.L'=l]Dg (r I}E'H—I]
2 i 3x°
[ 4(x* -1
Lo (_)]
2 3x
dv
13 cos[—1}
Solution:
Given

)
cos =i

R7is

On rearranging we get

dy

1
=y = Elog

[cz{x— Dix + 1)

== =C05 ' a

o

dy =cos™ adx

Integrating both sides, we get

j-.c?’}-' =cos” a If:’.r

|

' }:g (a € R}: V= l whenx =0

NCERT Solutions For Class 12 Maths Chapter 9
Differential Equations
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y=xcosta+C...1
Nowy=1whenx=0

Then
1=0cos*a+C
HenceC=1

Substituting C = 1 in equation (1), we get:
y=xcosta+1
(y—1)/x=cos?a

¢

v -1
= CO5| = W=u
L xr

14. ﬂ: vianx:yv=1 when x =0
dx '

Solution:

Given

dy

i y tanx

Separating variables by variable separable method,
= id = tanx dx
y

Taking Integrals both sides, we get

d
= J-—F = ftanxdx
y

On integrating

= logy=-log (cosx) +logc

Using standard trigonometric identity we get

= Llogy=log (secx) +logc

Using logarithmic formula in above equation we get
= Log y=log c (sec x)

=y=c(secx)...1

Now we are given thaty=1whenx=0
=1=c(sec0)

=1=cx1
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=>c=1
Putting the value of cin 1
= y =sec X

15. Find the equation of a curve passing through the point (0, 0) and whose
differential equation is y’' = e* sin x

Solution:

To find the equation of a curve that passes through point (0, 0) and has
differential equation y' = e* sin x

So, we need to find the general solution of the given differential equation and

the put the given point in to find the value of constant.

dy .
So,=2 — = e*sinx
dx

Separating variables by variable separable method, we get
= dy = e*sinx dx
Integrating both sides,

= J-dy = J-exsinxdx .

Now by using product rule we get
fuvdg = ufvdx— f{iufvdx}dx
Now let

I = [e*sinxdx

d
=1 = sinxf e*dx — J-(ESHIXJ- e* dx)dx

= | = e*sinx — J- cosx e*dx
Now by integrating we get
= [ = e¥sinx — [cos XJ- e*dx + J-sinx e*dx]

From 1 we have
= [ = e¥sinx - e*rosx—1
Now on simplifying

https://byjus.com
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= 2I = e*sinx —e*cosx

= 2I = e*(sinx — cosx)

. (sinx — cosx)
2

Substituting | in 1 we get
(sinx — cosx)
* +cC

2 2

Now we are given that the curve passes through point (0, 0)
o (sin0 —cos0)

=>1=0e

=y =e

0=e > +c
1(0—1)
T2
1
=;~c=§

Substituting the value of Cin 2

(sinx — cosx) N 1
=y = ¢ =
Y 2 2

On rearranging

= 2y = e*(sinx—cosx) + 1
Hence

= 2y —1 = e®(sinx — cosx)

J ¥

day

16. For the differential equation XV T =(x+2)(y+2)
(X

Find the solution curve passing through the point (1, —-1).

Solution:
For this question, we need to find the particular solution at point (1,-1) for the

given differential equation.
Given differential equation is

dy
— = + 2 + 2
> xyg = (x+ 27 + 2)
Separating variables by variable separable method, we get
y (x + 2)dx
= }T = —
v+ 2 X
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Taking Integrals both sides, we get

> [l - [(1+ )

Splitting the integrals

1 1
= J-dy—EJ-y n Edy = J-dx + EJ-de

= y—2log(y + 2) = x + 2logx + ¢ 4

Now separating like terms on each side,

= y—x—c = 2logx + 2log(y + 2)

= y—x—c = logx? + log(y + 2)°

Using logarithmic formula we get

= y—x—c = log{x*(y + 2)%} —i)

Now we are given that, the curve passes through (1, -1)
Substituting the values of x and y, to find the value of c
= —1—1—c = log{1(—1 + 2)?%}

= -2-c=log (1)

We know thatlog 1 0

=2Cc=-2+0

Soc=-2

Substituting the value of cin 1

y—x—c = log{x?(y + 2)%}

y—x + 2 = log{x®(y + 2)?}

17. Find the equation of a curve passing through the point (0, —2) given that at any
point (x, y) on the curve, the product of the slope of its tangent and y coordinate
of the point is equal to the x coordinate of the point.

Solution:
dy
We know that slope of a tangent is = dax’
So we are given that the product of the slope of its tangent and y coordinate of
the point is equal to the x coordinate of the point.
dy
Y = X

Now separating variables by variable separable method,
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= ydy=xdx
Taking integrals both sides,

= J-ydy = J-xdx

On integrating we get
2 2

y X
= — ==+

2 2
= }72 — Xz = EC]_
Now the curve passes through (0, -2).
~4-0=2c
=c=2
Putting the value of cin 1 we get
= 3‘?2 _ XZ = 4

18. At any point (x, y) of a curve, the slope of the tangent is twice the slope of the
line segment joining the point of contact to the point (- 4, —3). Find the equation
of the curve given that it passes through (-2, 1).

Solution:
We know that (x, y) is the point of contact of curve and its tangent.
v +3
Slope (m1) for line joining (x, y) and (-4, -3) is x+4".....1
dy

Also we know that slope of tangent of a curve is dx.

dy
- slope (m2) of tangent = 70

Now, according to the question, we can write as
(m2) =2(m1)
dy 2(y + 3)
= — = ——
dx X+ 4
Separating variables by variable separable method, we get
dy 2dx
= =
y+3 x+4
Taking integrals on both sides,
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J’ dy J’ dx

= = 2

v+ 3 X+ 4

On integrating we get

= log(y + 3) =2log(x +4) + log

Using logarithmic formula above equation can be written as
= log(y + 3) = logc(x + 4)?

=y +3=clx+4)?* 3

Now, this equation passes through the point (-2, 1).
=14+ 3 =c(—2 + 4)°

=4 =4c

=c=1

Substitute the value of cin 3

=y +3=(x+ 4)

19. The volume of spherical balloon being inflated changes at a constant rate. If
initially its radius is 3 units and after 3 seconds it is 6 units. Find the radius of
balloon after t seconds.

Solution:
Let the rate of change of the volume of the balloon be k where k is a constant
I

dt
d 4 -3 . 4 .3
T (Em ) = k {volume of sphere = 3™ 1
On differentiating with respect to r we get

4 _dr

= 5’]’[31 E =k

On rearranging
= 4mridr = kdt
Taking integrals on both sides,

= "-I-TIIJ-l‘zdl‘ = kJ- dt

On integrating we get
411y
3

= =Lkt + c
i
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Now, from the question we have

Att=0,r=3:
=4nx33=3(kx0+c¢)
= 108 = 3c

= C = 361
Att=3,r==6:

= 4mx 6% = 3(kx3 + )

=k=84n

Substituting the values of kandcin 1

= 4mr® = 3(84mt + 36m)
= 4mr? = 4m(63t + 27)
= r* = 63t + 27
= r = {63t + 27

So the radius of balloon afte

20. In a bank, principal increases continuously at the rate of r% per year. Find the

=3
r t seconds is V63t + 27

value of r if Rs 100 double itself in 10 years (log. 2 = 0.6931).

Solution:

Let t be time, p be principal and r be rate of interest
According the information principal increases at the rate of r% per year.

dp r
Tdt (ﬁ)p
Separating variables by varia

dp r
= ? = (m) dt

ble separable method, we get

Taking integrals on both sides,

[5 =)
= | = = — | dt
p 100

On integrating we get

It
=:~1ﬁgp=ﬁ+k

l+k
= p = ei00 1

Given thatt=0, p = 100.

https://byjus.com
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= 100 = e* 5
Now, if t = 10, then p = 2 x 100 = 200

So,
ok
= 200 = eT0 "
r
= 200 = eio.ek
From 2
r
= 200 = ei10x 100
r
= eld = 2
r
— = log2
= 0 og
=1 = 6.93

Soris 6.93%.

21. In a bank, principal increases continuously at the rate of 5% per year. An amount
of Rs 1000 is deposited with this bank, how much will it worth after 10 years
(%5 =1.648).

Solution:
Let p and t be principal and time respectively.
Given that principal increases continuously at rate of 5% per year.

= (5
“at ~ \100/?
Separating variables by variable separable method,
dpp
=2 — = —
p 25
Taking integrals on both sides,

d 1
= J'_P = —J-dt
p 20

t
= logp = e20"% ;4

Whent=0, p=1000
= 1000 = e°
Att=10
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+C

= P =

The aboue equation can be written as

= p = e?xef

= p = 1.648 x 1000 (e?° = 1.648)

= p = 1648

So after 10 years the total amount would be Rs.1648

22. In a culture, the bacteria count is 1, 00,000. The number is increased by 10% in 2
hours. In how many hours will the count reach 2, 00,000, if the rate of growth of
bacteria is proportional to the number present?

Solution:
Let v be the number of bacteria at any instant t.
Given that the rate of growth of bacteria is proportional to the number present
LAy
a7
dy

e ky (kis a constant)

Separating variables by variable separable method we get,
dy

Taking integrals on both sides,

d
= J’_}’ = kJ-dt
v

On integrating we get

= logy=kt+c..1

Let ¥’ be the number of bacteria at t = 0.
= logy =c

Substituting the value of cin 1
=logy=kt+logy

= logy-logy =kt

Using logarithmic formula we get
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y
= log— =kt
5y .

Also, given that number of bacteria increases by 10% in 2 hours.

Therefore,
110
= = ——
¥ = 1007

V 11

= — = —
y 10 3

Substituting this value in 2, we get
kx2 =1 1
= kx2 = —
%8710
11
10
So, 2 becomes

11 11 £ 1 v
=:-20g1ﬂ>< = Gg}"

k—ll
= —Eﬂg

N

FF

oe

0810 .4

Now, let the time when number of bacteria increase from 100000 to 200000
bet'.

=y =2y att =1t

So from 4, we have

2log
=t =

y
Elﬂgf 2log2
— 't'r = =

11 11

lngﬁ lugﬁ

2log2

11
So bacteria increases from 100000 to 200000 in *°€% hours.
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: : s ; . dy g
23. The general solution of the differential equation T: e s
dx
(A) e +e¥=C (B) ee+e=C
(C) e*+e&=C (D) e*+e?=C
Solution:
(A)e*+eY=C

Explanation:

We have
dy
= — = e¥*Y¥
dx
Using laws of exponents we get
d
= v e* x e¥
dx

Separating variables by variable separable method we get
= e Vdy = e*dx
Now taking integrals on both sides

= J-e‘l"'dy = J-e“‘dx

On integrating

= —a ¥ =¥ + ¢
=e*+e¥ = —
Or,

e+ eV =c¢

So the correct option is A.
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EXERCISE 9.5

PAGE NO: 406

In each of the Exercises 1 to 10, show that the given differential equation is

homogeneous and solve each of them.
1. (x2 + x y) dy = (x? + y?) dx

Solution:
On rearranging the given equation we get
dy x4y

dx  x2+xy
x%+ y?
X% + Xy
Here, substitutingx=kxandy=ky
}{X 2 + 2
iy -
Taking k* common
1{2 XE + },2
TkZxZ+ Xy
= k°.f(x, y)
Therefore, the given differential equation is homogeneous.
(x2+xy) dy = (x* + y?) dx
dy x% + y?

Letf(x,y) =

dx  x? + xy

To solve it we make the substitution.

Y=VX

Differentiating equation with respect to x, we get

dy N dv

ax ¢ Yax

We have dy/dx, substituting this in above equation
dv  x%+ (vx)?

V+HX—=—]"-"7-—
dx X2+ X VX

Taking x> common
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dx  x2(1 +v)
On simplification we get
dv 1 + v?

V+xXxX—=
dx 1+ v

NCERT Solutions For Class 12 Maths Chapter 9
Differential Equations

On rearranging the above equation we get
dv 1 + v? 1+ vi-v — v?

& T 1+v T 1 +v
dv 1 —v
X— =
dx 1+v
1 +v 1
dv= —dx
1 —v X
Taking integrals on both side,
f 1+ v

1 —vw

f( 1+ 2
1 —v

On integrating we get

-v-2log|l-v|=log |x| +logc
Substituting the value of v we get

1
dv=f£dx

1
)dv = fgdx

y y
—=—2log|]l1 — =] =1 + logC
< og|l — 2| = log|x| + log
Using logarithmic formula we get

y (x - y)°
—= = logT + log|x| + logC

X
y (x — y)°
—= = log—————.C
< og =2 X
On rearranging and computing we get
2
X —
X X
_ 2
X

Cx — y)? = xe¥/®
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, xty

2. v
X

Solution:

Given
. X+ Y

}T =
The above equation can be written as
dy x+vy

X

dx X
X+y
Letf(x,y) =

X

Here, puttingx=kxandy=ky
kx + ky

ke, ky) = ———

_kx+y

T kT ox

=K%.f(x, y)

NCERT Solutions For Class 12 Maths Chapter 9
Differential Equations

Therefore, the given differential equation is homogeneous.

X+ y

}T:

X

Then the above equation can be written as

dy x+y

dx ~  x
To solve it we make the substitution.
V=VX

Differentiating equation with respect to x, we get

dy_

E ‘V+XE

Now by substituting the value of v we get

N dv
V+x— =
dx X

On simplification we get

X + VX

\'
v+ Xx— 1+v

dx
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On rearranging we get

dv _
ix T
1
dv = —dx
X

Now taking integrals on both side we get
1

[dv =] ~dx

On integrating we get

v=logx+C

Now by substituting the value of v

y

<= logx + C

y=xlogx+Cx
3.(x—y)dy—-(x+y)dx=0

Solution:

Given (x-y) dy = (x +vy) dx

On rearranging above equation we can write as
dy x+vy

dx x-—y
X+y
Letf(x,y) = X =y
Now by substitutingx=kxandy=ky
kx + ky
f(kx, ky) = R — ky
On simplification we get
X+y
flocly) = L —
= k°.f(x, y)

Therefore, the given differential equation is homogeneous.
(x-y)dy—(x+y)dx=0
dy x+y

dx X -—y
For further simplification we make the substitution.
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Y=VX
Differentiating equation with respect to x, we get
dy dv

E =V + KE

Now by substituting the value of dv/dx we get

dv X + VX

dv 1+v
VIFER T 1 v
On rearranging

dv 1+ v

Kﬁzl—v_"F

Now taking LCM and computing we get
dv 1+ v—v+ v?

XE - 1 —v
dv 1 + v?
X— =
dx 1 —v
1 —v q 1Id
1+vz 0 T ™
Taking integrals on both sides we get,
1 —v 1
f1+v2dv=f£dx
Now by splitting the integrals we get
1 v 1
dv — dv = | —d
fl—kvfﬁ'F Jﬂ1+v2"r fxxl
Let, I, = d
etl; = J 1+ vz
Putl +v?=t
2vdv=dt
d ldt
vdv = >

Now by applying integral we get
lf ldt
27t
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Elﬂgt

Now by substituting the value of t we get
%lﬂg(l + v?)

From equation 1 we have

~ tan"'v — %log(l + v%) = logx + C

Now by substituting the value of v we get
2

.y 1 V

1 _ = il —

tan < 2103(1 + (x) ) = logx +C
On rearranging we get

1 x2+ y?
tan‘lg = logx + ilog( Y ) + C

w2

1 x% + y?
tan‘l% = E(Zlﬂgx-l—lﬁg(Ty)) + C

Using logarithmic formula we get

1 x? + y?
tan‘lg = E(lng(Tyx xg))+ C

1
tan‘lg = E(lﬁgx2+ vi) + C

4. (x*-y?)dx + 2xy dy = 0

Solution:
The given equation can be written as

2xydy = —(x? — y?)dx
On rearranging we get

dy x% —y?
dx 2Xy

x2 — y2
Let f[:X,}’) = — 2—}{}?

Here, substitutingx=kxandy=ky
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1-{2}{2 _ 1{2}’2
fl(kw, ky) = — 2K7xy
Now by taking k* common

2 g2 _ },2
f(kx, ky) = — 2 oy
=Kk f(x, y)

Therefore, the given differential equation is homogeneous.
(x?—yH)dx + 2xydy = 0

Again on rearranging

2xydy = —(x? — y?*)dx

The above equation can be written as

d}’ XZ _ },2

dx 2Xy

To solve above equation and for further simplification we make the
substitution.

Yy=VvX

Differentiating equation with respect to x, we get

dy N dv
ax " ¥ax

Now by substituting the value of dy/dx we get
dv x?— vZx?

v XE - 2X. VX

Now taking x* as common
dv x*(1— v?)

v XE - 2vx?

On rearranging

dv 1— v?

XE T v v

Now taking LCM and computing
dv. —1 + v?— 2v?

XE - 2v

On simplification
dv.  —1 — v?

XE - 2v
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Rearranging the above equation we get

2v q 1[1
1+ v? v X x
Now by multiplying the above equation by negative sign we get
2v q 1[1
1+vz 0T %™
Taking integrals on both sides, we get
f 2v d f 1':1
v = —| —dx
1+ v2 X 1
Let,I, = [ 2v d
R
Put1+vi=t
2vdv=dt
d 1dt
vdv = 5
Taking integral we get
1
[ =adt
t
Llogt

From 1 we have
~log (1+vP) =-logx+log C
Now by substituting the value of v we get
lo (1+ (E)E) = —logx + logC
g " gx g

By using logarithmic formula we get

x4 y? C
log = 10g£

KE
On simplification
x> +y? = Cx
2 dy 2 w3
5. X ——=x" =2y +xy
dx
Solution:
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The given question can be written as
dy  x"—2y°+xy

dx %2

x2—2y? + xy

Letf(x,y) = e

Now by substitutingx=kxandy=ky
k?x?— 2k%y? + kx
oo ky) =y T
Now by taking k* common we get
k? x2—2y? + x
flocky) = 15—
= k°.f(x, y)
Therefore, the given differential equation is homogeneous.
ng = x?-2y% + xy
On rearranging we get
dy x%—2y*+ xy
dx x?
To solve above equation and to make simplification easier we make the
substitution.
Yy=VX
Differentiating above equation with respect to x, we get
dy dv
E = vV + XE

Now by substituting the value of dy/dx we get
dv x*—2vix?+ xwvx

V+x— =
dx X2

On rearranging we get

dv 1— 2vi4 v
V4+x— =

w2

dx 1
dv
V+x—=1-2vi+vy
dx
On simplification
dv L oy?
X— = 1-2v
dx
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By separating the variables using variable separable method,

! d ld
1-2vz &V T ™
Taking integrals on both sides, we get
1 1
‘[—1— o7 dv = | ;dx
The above equation can be written as
1 1
[ ————dv = [ —dx
1-(v2v)? X
1 1
f ————dv = [ —dx
12 —(v2v)? X
On integrating using standard trigonometric identity we get
L1 1+ Va2v ol + C
—.—.log |/———| = log|x
V221 % [1 -y &
Now by substituting the value of v we get
1 1+ V2l «
lo = log|x| + C
w2 81 Y &
X
On simplification
1 X+ w’rzy
lo = log|x| + C
2v2 & X— w’rzy 8lx|
6.xdy—ydx= \[x*+ 1‘-.‘2 dx
Solution:

The given question can be written as

xdy = (x2+y2 + y)dx

On rearranging the above equation we get
dy (yx*+y? +y)

dx X

KTy o+
Letf(x,y) = S Y y)

X
Here, puttingx=kxandy=ky
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Mr2w2 1 2yl
o) = LT 1)

Now taking k as common
k (yx2+y2 +y)

flloc ky) = o
= k°.f(x, y)
Therefore, the given differential equation is homogeneous.
xXdy - ydx = v"x?——l—y? dx

X

By separating the variables using variable separable method we get

xdy = (yx?+y? + y)dx

On rearranging we get

dy (yx*+y*+7y)

dx X

To solve above equation we make the substitution.

Y=VX

Differentiating equation with respect to x, we get

dy dv

E =V + XE

On rearranging and substituting the value of dy/dx we get
dv  Vx2+x2vZ +vx

vV + Xx— =
dx X

Taking x as common and computing we get

dv xW1 + v2 + vx
vV + Xx— =
dx X

On simplification

v+x—x=a¢1+v2—|—v

dv —
X—=+1+v?
Again separating variables we get

1 1
dv = —dx

V1+ve X

Taking integrals on both sides, we get
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[ dv =4
Jirvz v T Ix®

1
Usingf Vx? + a?
log(v + 1+ v2)=1logx + logC
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= log(x + {/x?+a?

, the above equation can be written as

Now by using logarithmic formula we get

y ’ y?
log £+ 1+x_3 = logCx

On simplifying we get

2
E+ 1+F—E=CX

Taking LCM
XE + 2
AP i A
X X2
tr =G

On rearranging

y + x2+y2 = Cx?

Solution:
The given question can be written as

ay _ [seos(D)sysin®))y
ax  [ysin(l)wcos(Z)} «

{KEGS %) + ysiﬂ@} y
Letitxy) = {Fsin@) — Xcos E)} X

https://byjus.com
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Now by substituting x = kx and y = ky
{}{xcos (%) + kysin (g)} ky
flke, ky) = Ky Ky
{kysin (H) — kxcos (H)} kx
Now by taking k* as common we get

B k2 {xms @) + ysin @} y
)~ e ]
= k2.f(x,y)

Therefore, the given differential equation is homogeneous.

ay {xcos(}) +ysin(})} v

dx {ysin @) — XC0S @)} X

To solve above equation we make the substitution.
Yy=VX
Differentiating equation with respect to x, we get

dy N dv
dx dx
Now by substituting dy/dx value and on rearranging we get

ﬁ B {xcos(v) + vxsin(v)}vx

VEXGRT {vxsin(v) — xcos(v)}x

Taking x as common and simplifying we get
dv  {cos(v) + vsin(v)}v
V+x— = :
dx {vsin(v) — cos(v)}
On rearranging and computing we get
dv  {cos(v) + vsin(v)}v
& {vsin(v) — cos(v)}
Taking LCM and simplifying we get
dv  vcos(v) + vZsin(v) — vZsin(v) + vcos(v)
X—= :
dx vsin(v) — cos(v)
dv 2v cos(v)
*ax ~ vsin(v) — cos(v)
Separating the variables by using variable separable method we get
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vsin(v) — cosv

1
dv = —dx
2vcosv X
Now by splitting the numerator we get

vsinv COsv

\
2VCosv 2VCOosvV
On simplification we get

lt q lZLI[1 ld
Zalwv 27 V—X‘X

Taking integrals on both sides, we get
lf tanvd 1 | ZLd | ZLd
> anvdv 51 3 v = " X

On integrating we get

1
dv = —dx
X

1 1
Elﬂg Secv — Elﬂgv = logx + logk

Using logarithmic formula we get
log secv — logv = 2logkx
Now by substituting the value of v we get

y v
log sec (x) log (x) = 2logkx
Ahain using logarithmic formula we gte

lﬁgGsec G)) = log(kx)?

On simplification

X

—sec (E) = k%x°

v X

We know that sec x = 1/cos x, by using this in above equation we get
1

S -

XyCoSs @)

On rearranging

Xycos (E) = %

X

Where Cis integral constant
1

T

https://byjus.com


https://byjus.com/?utm_source=pdf-click
https://byjus.com/?utm_source=pdf-click

" NCERT Solutions For Class 12 Maths Chapter 9
m BYJ U S Differential Equations

The Learning App

dy sl ¥
8..r—'—}1+x5|nl‘—]:0

dx x)
Solution:
The given question can be written as

. (¥
X— = — XSIII( )
dx y

X

On rearranging we get

@ _ vV — xsin@)

dx X
y — xsin @)
Letf(x,y) = "
Now putx=kxandy=ky
ky — kxsin (g)
f(kox, ky) = ———

By taking k as common we get
k' ¥V — xsing)

flket, ky) = = -
= k%f(x, y)
Therefore, the given differential equation is homogeneous.

XE = ¥ — Xsin (E)
dx X
On rearranging the above equation
dy ¥ — Xsin g)
dx X
To solve above equation we make the substitution.

Y=VX

Differentiating equation with respect to x, we get

On rearranging and substituting the value of dy/dx we get
. (VX
dv VX — xsin (?)
dx X
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On simplification we get

dv .
vV + X— = v- sinv
dx
dv .
X— = —sinv
dx
Now separating variables by variable separable method we get
1 1
e dv =— —dx
sinv X

We know that 1/sin x = cosec x then above equation becomes
cosecvdv = — —dx

X
Taking integration on both side, we get

1
J-msecvdv =—f de

On integrating we get
Log (cosec v—cotv) =-logx+log C
Now by substituting the value of v we get

v y C
lﬂg{msecx - mtxj = 10gX

On simplifying we get

y y C
cosec— - cot= = —
X X X
We know that 1/sin x = cosec x and cot x = cos x/ sin x then above equation
becomes
y
1 ~ cosy E
o Y iy X
siny  sing

On rearranging we get

y c .
1 — cos— = —.sin—
X X X

y . ¥
¥(1 — cos—) = Csin-—
( x) X

9.y dx+xlog{£]d}:— 2xdy=0
&
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Solution:
Given

ydx + xlog({) dy - 2xdy = 0
The given equation can be written as
y
:{log(x) dy - 2xdy = —ydx
Taking dy common
y
(:{lug(x) dy - Ex) dy = —ydx

On rearranging we get

dy -y

dx xlog@) dy - 2x

dy _ y

dx 2% —xlog (%)

Letf(x,y) = Y ¥
2X — xlog(g)

Now putx=kxandy=Kky

ky
f(kx ky) =

2kx — l{xlcrg(%)
Taking k as common

k
fllx ky) = -.——

kiox — xlﬂgg)

= k°.f(x, y)

Therefore, the given differential equation is homogeneous.
y

dx + xlog(=)dy- 2xdy =0

yax XC‘E(X) y - £LXdy

y P
Xl(}g(x) dy - 2xdy = —ydx
On rearranging
dy _ —y
dx xlug(%) dy - 2x
Simplifying we get
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dy _ y
dx 2% —xlog @)

To solve it we make the substitution.

Yy=VX

Differentiating equation with respect to x, we get

dy dv

— =V + X—

dx dx

On rearranging and substituting dy/dx value we get
dv VX

V+x—=

dx 2% —xlog (%)

On simplification

N dv. v
v de_z—lﬂgv

dv v

X—=—"—-YV
dx 2—logv

Taking LCM and simplifying we get
dv v— 2v+vlogv

*ax T 2- logv
dv_ —v+vlogv

Yax T 2- logv

By separating the variables using variable separable method we get
2—1lo 1

£ 08V - ik

—v + vlogv X
2 —logv 1

v(logv—1) dv = L dx

On simplifying we get

1—(logv—1) 1

v(logv— 1) dv = de
L d 1d = 1d
v(logv—1) v Ve

1

[

1 1
4y [Zdv = [ -dx
Integrating both sides, we get v(logv—1) v L
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1
v(logv — 1) dv
Put,logv—1=t

1
—dv = dt
v

Letl, = [

On integrating
1
[ —dt
T
Logt
Substituting the value of t
Log (log v - 1)
From equation 1 we have
~ Log (log v-1)—log (v) =log (x) + log (c)
By using logarithmic formula we get

logv—1
lﬂg(gvT) = log(Cx)
logv—1
v
On simplification we get

lﬁg@) -1
—5—

E[logxg) - 1) = Cx

lﬂgg) —1=Cy

= Cx

= Cx

10. | 1+¢” dx+e;(l—£)dy=0

.}!
Solution:
Given question can be written as
_exivf(1_ %
dy € (1 y)
dx (14 ex/v)
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Let f(x,y) = T o)
Now putx=kxandy=ky
(i

il k) = — i)

« X
- /v (1- §)

(1+ ex/ly)
= K°f(x, y)

Therefore, the given differential equation is homogeneous.
x X

(1+ e¥¥)dx + e¥ (1 — §) dy = 0

On rearranging

1+ e¥7)dx = —ei 1- 2 dy
( )

y
dx — e (1_ 3)

dy (14 exhv)
To solve above equation we make the substitution.

X=Vvy
Differentiation above equation with respect to x, we get

On rearranging and substituting for dy/dx value we get
dv vay(l B %)

vV + =
Y (L+ ewh)
av  —e +ve
— V— e —— ¥
) l+e

Now taking LCM and simplifying we get

dv  —¢"+ve' —v—ve'

Cody 1+¢’
The above equation can be written as
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dv v+ e'
= y—= -
dy I+e¢

[1+¢' } dy
= — |dv=——
¥

v

Integrating both sides we get

c
A, ..LI

= lug(1~+c"}:—lr:rgy+lcrgt: log[

Using logarithmic formula the above equation can be written as

[ ] c
=|—+te |=—
¥ v

X

= x+ye’ =C

For each of the differential equations in Exercises from 11 to 15, find the particular
solution satisfying the given condition:
11. (x +y)dy +(x-y)dx=0; y=1whenx=1

Solution:

Given

(x+y)dy+(x-y)dx=0

The above equation can be written as

dy  (x-y)
dx = (x+y)
(x—y)
Letf(x,y) = — E+y)
Now putx=kxandy=ky
. (x—ky)
) = ot i)

By taking k common from both numerator and denominator we get
k (x-y)

Tk (x+y)
= k%f(x, y)

Therefore, the given differential equation is homogeneous.
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(x+y)dy+(x-y)dx=0

Again above equation can be written as
dy  (x-y)

dx (x+vVy)

To solve it we make the substitution.

Y=VX
Differentiating above equation with respect to x, we get

On rearranging and substituting the value of dy/dx we get
dv (x —vx)
dx  (x+vx)
Taking x common and simplifying we get
dv (1—v)
VR T Ty
On rearranging
dv (1—v)
Yax T (a+v)
Taking LCM and simplifying
dv. —1+v—v— v?
&x T (1+v)
dv.  —1-—v?
&x T (1+v)
dv.  —(1+v?)
T
Then above equation can be written as
1+ v |
1+ v2
Taking integrals on both sides, we get
f 1+ v

1+ v2
Splitting the denominator,

v 1
[ dv+fl+v2dv=—f£dx

1
dv=— —dx
X

1
dv = —f;dx

1+ v2
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On integrating we get

1
tan"lv + Elﬂg(l + v?¥) = —logx + C
Now by substituting the value of v we get
¥ 1 ( y 2) _
tan x+ 2mg 1+(X) = —logx + C
y=1whenx=1
t ‘11+ 11 :L+(1)2 = —logl + C
an 1 Eog 1 = og
The above equation becomes,
I + 11 2=0+C
g 200 T
L P
3T 2%
tantY 4 L ( y ) __
~tan x+ 2ln:,tg 1+(x) = —logx + C
here, C =~ + ~log?
where, =7 t3 og
tan-tY 4 L A%
~ tan ” + 2lc:rg l—I—(X)

R O P
TTsR Ty TR0

X2+ 2
2tan—tY + lﬂg( 2}’ )
X X

TII
= — 2logx + 2 + log2

On simplifying we get
X+ y? , ™
+ logx® = 2 + log2

¥
2tan 1= + 1
an " Gg( 2

i
Etan‘lg + log(x*+y?) = o+ log2

The required solution of the differential equation.
12. x*dy + (xy +y?)dx =0; y =1 whenx=1

Solution:
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Given

xidy + (xy+y?) dx=0
On rearranging we get
dy  (xy+y?)

dx x2
(xy+ y%)
Letf(x,y) = Tz
Now putx=kxandy=ky
(keky + k?y?)

f(kx, ky) = — 15
Taking k* common we get

k*  (xy+y°)
"k x2
= K°.f(x, y)

Therefore, the given differential equation is homogeneous.
xidy + (xy+y?) dx=0

Above equation can be written as

dy (xy+y?)

dx x2
To solve it we make the substitution.
Yy=VX
Differentiating above equation with respect to x, we get
dy . dv
dx d
On rearranging and substituting dy/dx value we get
dv (x.vx + vZx?)
V+X—=—
dx X2
dv (vx?+ v3x?)
V+x—=-—
dx X2
On computing and simplifying
dv 5
V+X—=—-V-V
dx
dv 5
X—=—V-V" -V
dx
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dv
X—=—-v(v+ 2)

dx
L dv = ld
v(v+2) VETX®
Taking integrals on both sides, we get
f——dv = — [ =
v(v+2) V= x

Dividing and multiplying above equation by 2 we get
1 2

2 v(v+2)
Adding and subtracting v to the numerator we get

1
dv = —fgdx

1 2+4+v— v 1

_f v{v+2) B —f;dx

Now splitting the denominator we get

1 2+vV v 1
2] (v{v—l— 2) a v(v+ Ej)dv =/ de

-

v+2
On integrating we get

1
E(lﬂgv— log(v + 2)) = —logx + logC

Using logarithmic formula,

1 (1 Y ) 1 C
2 0By o) = 198
y
X — _
log §+ Elogx

On simplification we get
2

\ C

y+ 2x - (E)
x%y

y+2x -

y=1whenx=1
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T 1+ 2
x%y

1
“y+2x 3
3x%y =y + 2x
y + 2x = 3x%y
The required solution of the differential equation.

. ~ T
13. [Islnz(i)—y]dﬂr xdy=0;y :E whenx =1

X

Solution:
Given

[x sin’ G) — y: dx = — xdy

The above equation can be written as

[x sin” G) — y: = — xg
On rearranging

ay  [xsin*(§) -]
dx X

We know f(x, y) = dy/dx using this in above equation we get
i [x sin? g) - y]
) = — "
Now putx=kxandy=ky
[}{x sin? (g) — ky]
f(kos, ky) = — =

Taking k as common
k [x sin? (g) — y]

k' X
= k%f(x, y)

Therefore, the given differential equation is homogeneous.

[x sin® G) — y] dx + xdy = 0
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On rearranging
[x sin® G) — y] dx = —xdy

[x sin? (E) — y] = — xg

X
ay i) -]
dx X
To solve it we make the substitution.
Yy=VX
Differentiating above equation with respect to x, we get
dy dv
— =V + Xx—
dx dx
On rearranging and substituting the value of dy/dx we get
dv x sin? (%) — vx]
V+X—=—-
dx ] X
dv xsin’v — vx
V+X—=—
dx i X
dv -
V+X— = —sinv-v
dx
On computing and simplifying we get
dv 5
X—=—[sin“v-v]-v
= | ]
dv o
X— = —sin'v+ v-v
dx
dv .
X— = —sin“v
dx
1 1
, v = — —dx
sin?v X
Taking integrals on both sides, we get
[ —=dv = —f ~d
v=—|—-dx
sinZv X

[cosec?vdv = - log x—log C
On integrating we get
-cotv=-logx—logC
Cotv=Ilogx+logC
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Substituting the value of v we get
mta_: = log(Cx)

T
y=1whenx =1

/4
mtT = log(C.1)

T
cotg = logC
1=C
el=C

v
coti = log(ex)

The required solution of the differential equation.

dy vy (¥ )
14. o S e '—JZO: v=0whenx=1
dx x X '

Solution:
Given

d
¥ _¥y EDSEE(E) =0
dx X X

On rearranging we get

Y cosec(d)

_Y_ y
Letf(x,y) = < cosec(x)
Now putx=kxandy=ky

- o~ coseeig)
f(ka, ky) = o cosec|

y y
=3 cosec (X)
= K°.f(x, y)
Therefore, the given differential equation is homogeneous.

g — g + cﬁsec(i) =0

YT cosec(d)
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To solve it we make the substitution.

Yy=VX
Differentiating above equation with respect to x, we get
dy dv
— =V + X—
dx dx
Rearranging and substituting the value of dy/dx we get
dv VX VX
V+Hx—=—— cnsec(—)
dx X
On simplification
dv
V + X— = V- cosecy
dx
dv
X— = — cosecv
dx
1
v =——dx
Cosecv X

Taking integrals on both sides, we get
1
[sinvdv = — [ de

On integrating we get
-Cosv=-logx+C
Substituting the value of v

—cos% = —logx + C
y=0whenx=1

0
—Cosy = —logl + C
“1=C

y
~—cos= = —logx-1
cos_ 08X

msi = logx + loge

y
COs_ = log|ex|
The required solution of the differential equation.

v
i:'[}; V= 2whenx=1

dx
https://byjus.com
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Solution:
Given

2xy + yz—Eng =0

The above equation can be written as
dy 2xy + y?
dx 2x?
2xy + y°

2x?
Now putx=kxandy=ky

2kxky + (ky)®

flloc ky) = =) 1
Taking k* common

k? 2xy + y?
T k2T w2
= k°.f(x, y)
Therefore, the given differential equation is homogeneous.

d
2xy + yE—ZXEd—i =0

On rearranging

dy 2xy + y?

dx 2x°2

To solve it we make the substitution.

Y=VX

Differentiating above equation with respect to x, we get

dy N dv
ax ¢ Yax

On rearranging and substituting the value of dy/dx we get
dv  2x.vx + (vx)?

Letf(x,y) =

vV + Xx— =
dx 2x2
. dv  2vx? + v%x?
vV + Xx— =
dx 2x2

On computing and simplification we get
dv  2v + v?

V+x— =
dx 2
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N dv . 1 5
v Xd =V Ev
dv 1 5
de Ev
1 1
Z—Edv = —dx
v X

Taking integration on both sides, we get
[2—dv = [ ~d

—dv = | —dx

Ve X

On integrating we get

2—1 + C
vy ~ o8

Substituting the value of v we get
2
y/x
X logx + C
—— = logx
y

= logx + C

y=2whenx=1

2'1—1 1+C
2 %%
-1=C
2x 1 L
w—— = logx-
y
2x L 1
— =1 —logx
y
B 2% _ 0
y = 1—10g|x|'x¢ ex #

The required solution of the differential equation.

dx

—_—=

16. A homogeneous differential equation of the from

the substitution.
(A)y=vx (B)v=yx

Solution:
(C)x=vy

(Cx=vy
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Explanation:

Since, -~ is g It h(x)

ince,— is given equal to h(—|.
dy g q -

Therefore,

X X
h (—) is a function of —.
y y

Therefore, we shall substitute, x = vy is the answer

17. Which of the following is a homogeneous differential equation?
A.(4x+6y+5)dy—(3y+2x+4)dx=0

B.(xy)dx—(x>*+y3) dy=0

C.(x3+2y?)dx+2xydy =0

D. y’dx + (x*—xy—-y?)dy=0

Solution:
D. y?dx + (x>*—xy—-y?)dy=0

Explanation:
We have
yvidx+ (x> —xy—vyi) dy=0
On rearranging
dy x% - xy - y?
<~ yz
X% - xy - y?
FE
Nowputx=kxandy=ky
 (k9)® - kky - (ky)?

Letf(x,y) = —

fl kx =

(e ky) )2
k2 x%-xy-y

S

= k%.f(x, y)

Therefore, the given differential equations is homogeneous.
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EXERCISE 9.6 PAGE NO: 413
For each of the differential equations given in question, find the general solution:

dy ;
1. —42y=sinx
dx

Solution:
Given
dy o
» + 2y = sinx

dy
Given equation in the form of dx
E_lﬂl:n:iﬁ-.r _ Efzdu — a2

+py:Qwhere,p=zandQ=5inx

Now, I.F. =
Thus, the solution of the given differential equation is given by the relation

y(.F)=J(@xLE)dx+C
= ye™ = [sinx.e™dx+C__ 1

Lot | = | sinx.e?*dx

Integrating using chain rule we get

d
== sinxJ- szdx—f (E (sixm).erzd“) dx

EEx Eﬂx
= sinx.—— cosx.— |dx
- [ (o)

On integrating and computing we get

_ esinx 1[1:(}st- 2x _ J-(—(EDSX)J- z“dx)dx]

e *sinx 1
= [cosx—— [[ smx)

d
2 2 X

e?¥ginx  e? “cosx 1 -
= — (sinx.e<*)dx
2
Above equatinn can be written as

2x 1
— — (2sinx — -
Z (2sinx — cosx) 2
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2x

e
= -—-1= e (2sinx — cosx)

4
2x
== ?(Esim{— COSX)

Now, putting the value of 1 in 1, we get,
2x

= ye?¥ = ?(Esim{ —cosx)+ C

=y=z (2sinx — cosx) + Ce™%¥

Therefore, the required general solution of the given differential equation is

1
y = E(Esim{— cosx) + Ce 2%

dy
2. —+3y =g
dx

Solution:
Given
E . a—2X%
™ +3y=e
dy
This is equation in the form of dx

—23
Where, p=3and Q=2
Efpdt_ Efzdt a3x

+py=Q

Now, I.F. =
Thus, the solution of the given differential equation is given by the relation

v (LF)=J(@x LF.)dx+C

= yei* = J-(e‘z" X e**)dx+ C

= yed* = J-e"dx—k C

On integrating we get

= ye¥=g*+C

=y= E-Ex + Ce-:ix

Therefore, the required general solution of the given differential equationis y
=2+ Ce™
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3, &y I

ax  x

Solution:
Given

d

dx X

d
This is equation in the form of d—i +py=Q
1

Where, p=xand Q = :u:f
Now, LF. = e/Pdx = of3dx _ glogx _ ¢

Thus, the solution of the given differential equation is given by the relation
v(LF) = J(@x LE)dx+C

= y(x) = f{xz.x)dx+ C

= Xy = J-{xajdx+ C
On integrating we get
th

:axy=?+ﬂ

Therefore, the required general solution of the given differential equation is

X}F=§+C_

dy T
4._-1’+{53¢,1;)y:r;111,r D<x<—
dx 2

Solution:
Given

d
d—i + (secx)y = tanx
. . dy
Given equation is in the form of 3, +py=Q

Where, p=secxand Q =tan x)
Now, |.F. = e/ Pdx — gf seexdx _ glog(secx+tanx) _ gacy + tanx

Thus, the solution of the given differential equation is given by the relation
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y(LF)=[(Qx LF.)dx+C

= y(secx + tanx) = J-tanx(secx+ tanx)dx + C
= y(secx + tanx) = J-secxtanxdx—l— J- tanxdx+ C

= y(secx + tanx) = secx + J-(seczx— 1)dx+C

= y(secx+tanx)=secx+tanx—x+C
Therefore, the required general solution of the given differential equation is
y (sec x + tan x) =sec x + tan x —x+ C.

dy T
5.c08° x—+ y =tanx {Jixq—]
dx 2 )
Solution:
Given

d
2 —}r =
cos®— +y = tanx

The above equation can be written as
d

= d—i + sec?x.y = sec’xtanx

. ... d
Given equation is in the form of d—i +py=Q
Where, p = sec’x and Q = sec?x tan x
NGW, |.LF. = Efpdx — ef secix dx — Etanx
Thus, the solution of the given differential equation is given by the relation

y(LF)=J(@x LE)dx+C
—y. S = [ ¥dx+C 1

Now, Let t =tanx

d(t )_dt
= 7 (fanx) = —

i dt
= Sec ¥ = —
dx

= sec’xdx = dt
Thus, the equation 1 becomes,
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= y.etnx = J-(et.t)dt +C

= y. el = J-(t. eH)dt+C

Using chain rule for integration we get

d
= y. e = ¢ f etdt — J- (E (t).f etdt) dt+ C

= y. e = ot — J-etdt +C

On integrating we get

= te™™ =(t—-1)e'+C

= te™™ = (tanx — 1)e®™™ + C

=y = (tanx-1) + Ce™™

Therefore, the required general solution of the given differential equation is
y=(tan x -1) + Ce™™,

dy
6.x—+2y=x"logx
dx

Solution:
Given

dy _ o2
X +2y=x logx
The above equation can be written as

dy_l_E 1
— — —_ —
dx xy XIOgx

This is equation in the form Df% +py=0Q
5 :

Where, p = x and Q =x log x
Now, L.F. = Efpdx _ Efgz{dx — a2(logx) _ Elogxz _ 2
Thus, the solution of the given differential equation is given by the relation

v(LF)=J(@x LE)dx+C
= y.x* = J-(xlﬁgx.xz)der C

The above equation becomes
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= X’y = J-(xalﬁgx)dx+ C

On integrating using chain rule we get

d
= X’y = logx.fxadx— J- [Eﬁlogx).fxadx] dx+C

20 _ logx 5. flx4d+c
= x’y = logx. <7 )

x*logx 1
= X’y = —— | x3dx+C
y="3% -J
Integrating and simplifying we get
x*logx 1 x*
2y = ——.=+C
XY ST Ty

1
= X’y = Ex“(-ﬂllﬂgx— N+C

= =ix2(410 —1)+Cx~?
Y= 16 gX

Therefore, the required general solution of the given differential equation

y = ixz (4logx— 1) + Cx 2
16

dy 2
/. xlogx—+ y=—logx
dx bs
Solution:
Given

d 2
Xlﬁgxd_i Ty= ;lﬂgx
The above equation can be written as
dy v 2
dx N xlogx T x2
The given equation is in the form of dy py = Q
Where, p= X _and Q= % o

xlogx

1
Now, I.F. = e/ pdx — efxlngxd" = eloslegx) — gy
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Thus, the solution of the given differential equation is given by the relation:

y(.F)=J(QxLF)dx+C

= y.logx = [ | Z.logx| dx+ €,

ogs(-3) - [ (2-(-2))

2
—§(1+ logx)

w1
Now, | [% lﬂgx] dx =2 (lugx.xiz) dx

On integrating using chain rule we get

:lﬂgx.fédx— J- [% (lﬁgx).f%dx} dx]

Now, substituting the value in 1, we get,

2
:y.logx=—£(l+10gx)+ﬂ

Therefore, the required general solution of the given differential equation is

2
y.lngx=—£(1+10gx)+c
8. (1 + x2) dy + 2xy dx = cot x dx (x # 0)

Solution:

Given

(1+ x?)dy + 2xydx = cotxdx

The above equation can be written as
dy 2xy cotx

= —+ =
dx  (1+x2) 1+x2

The given equation is in the form of g +py=Q

2x cotx

Where, p = (1+x2) and Q =1+x2)
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2X
NGW |_F_ — E.I..de — Ef|:l+K2idx — Elog{1+xz] — 1 _|_ XE

Thus, the solution of the given differential equation is given by the relation
y(.F)=J(QXLE)dx+C

5 cotx 5
=V.(1+x°) = [1+X2.(1+x )]d:xH—C

= v.(1+x?) =J-c0txdx+ﬂ

On integrating we get

= y(1 +x?) = log|sinx| + C

Therefore, the required general solution of the given differential equation is
v(1 +x?) = log|sinx| + C

dy

9. x—+ y—x+xycotx=0 (x#0)
dx

Solution:

Given

dy
Xty - X+xycotx = 0
The above equation can be written as

dy+ 1 +xcotx) =
— —_— =
Xoo v(1+xcotx) =x

d}’_l_ (14— tX) 1
= — — =
dx X o}y

The given equation is in the form of g +px=0Q

Where,p=1_4 oxand Q=1 '

Now, I.F. = .:J’pdx _ oJ(zreotx)dy _ logx+log(sinx) _ gloglxsing) _ yging

Thus, the solution of the given differential equation is given by the relation
x(1.F)=J(QX LF.)dy+C

= y(xsinx) = J-[l X xsinx]dx + C

= y(xsinx) = J-[xsinx]dx +C
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= y(xsinx) = XJ- sinxdx — J- [% (x).J- sinxdx] +C

= y(xsinx) = x(—cosx) — J- 1.(—cosx)dx+ C

On integrating we get
=y (xsinx)=-xcosx+sinx+C

—xcnsx+ sinx

= xsinx xsinx

C
y —cotx + - +
= X

Therefore, the required general solution of the given differential equation is

c

Xsinx

y =-cotx += +

dy
10. (x+y)—=1
dx
Solution:
Given

d
(x+y)5 =1

The above equation can be written as

dy 1
dx x+y
dx
:-d—}?:x—l-y
dx
:*-d—y—x:y

xsinx

. L. d
The given equation is in the form of d—y +px=0Q

Where, p=-1land Q=vy
Now, I.F. = afPdy — of—dy — o-¥
Thus, the solution of the given differential equation is given by the relation:

x (L) =J(@x LE.)dy+C
= xe™V = ’-[y.e‘?*']dy+ C
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d
= xe ¥ = yJ- e~y — J- [d_y (v) J- e‘?*'dy] dy + C
= xe ¥V =y(—e¥) - f(—e‘*’)dy#— C
On integrating and computing we get
= xe ¥V =—ye ¥ + J- e Ydy+C

= xXe Y =—ye ¥ —e ¥+

=>x=-y—1+Ce'

=x+y+1=Ce'

Therefore, the required general solution of the given differential equation is
Xx+y+1=Ce'.

11.ydx+ (x—-y?)dy=0

Solution:
Given
ydx + (x— y?)dy = 0
The above equation can be written as
= ydx = (y? —x)dy

dx  (y*—x) X

&y~ vy Ty
On simplifying we get

dx N X
— — —
iy 'y’ iy
The above equation is in the form of 3, T PX=Q
1

Where, p = y and Q=y
dy

Now, LF. = e/ P9V = I — eloey —y

Thus, the solution of the given differential equation is given by the relation
x(1.F)=J(@x LE.)dy+C

= Xy = f[y.y]dyﬂ— C

:*rx.y:J-yzdy—kC
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On integrating we get
FE
= xXxy=—+C

3

3
C
=&xy=%+§

Therefore, the required general solution of the given differential equation is

2
C
X}’=F;+;

5 dy
12. {.r+3}“}i= y (y>0)
dx

Solution:
Given
d

(x+3y9) =y
On rearranging we get
Wy

dx x+ 3y?

dx x+3y* x
= == ==+ 3y

dy y y
On simplification

This is equation in the form Df? +py=0Q
X
Where, p=-1/y and Q = 3y
_ 1
Now, I.F. =Efpd’" =e Iy e~losy — ¢'°8G) — i
Thus, the solution of the given differential equation is given by the relation:

x(1.E)=J(@xLF.)dy+C
o= [ frlarec
y }’F Vv
On integrating we get

= 3y+C
= — =3y
y
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= x=3y?+Cy
Therefore, the required general solution of the given differential equation is x = 3y? + Cy.

For each of the differential equations given in Exercises 13 to 15, find a particular
solution satisfying the given condition:

dy ; T
13. — 4 2ytanx=sinx; y=0 when x=—
dx 3
Solution:
Given

E + 2ytanx = sinx
’ d
This is equation in the form of d—i +py=Q

Where, p = 2 tanx and Q =sin x
Now, I.F. = Efpdx _ ef 2tanxdx _ ,2log(secx) _ Elug{seczx] = seclx

Thus, the solution of the given differential equation is given by the relation:
y(.F)=J(@xLE)dx+C

= y. (sec?x) = J-[sinx.seczx]dx+ C

= y. (sec’x) = J-[secx.tanx]dx +C

On integrating we get
= y.(sec’x) = secx+ C__

I
Now, itis giventhaty=0atx =3
0 X seczE— secE-l—C
3 73
=0=2+C
=C=-2

Now, Substituting the value of C=-2in 1, we get,

= y. (sec’x) = secx — 2

= y = COS X — 2€05°X

Therefore, the required general solution of the given differential equation is
Y = COS X — 2COS°X.
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dy
14 (L4 x) =4 2xy = :v=0 when x=1

A

dx |+ x°
Solution:
Given
2y dy _
(1+x )dx—I—Exy— e
dy 2Xy 1

— 4 —

T dx (1+x2)  (1+x2)? .

The given equation is in the form of d—i +py=Q
2x 1

Where, p= (1+x%) and Q = (1+x*)?

X
Now, I.F. = EJ’pdx = E‘r[1+x2idx — Elug{1+x2] =1+ %2
Thus, the solution of the given differential equation is given by the relation
VILE) = [(Qx LE)dx+C

=vy.(1+x%) = J- [ﬁ.(l+xg)]dx+c

1
=>}'.(1+XE) = J-md){'F C
On integrating we get

=y (1+x?)=tan'x+C_4

Now, it is given thaty=0atx=1
O=tan?1+C

=C=_1

4 i

Now, Substituting the value of C= 2 in (1), we get,
T
=vy.(l1+x%) =tan'x— 2
Therefore, the required general solution of the given differential equation is

s
v.(1+x?)=tan'x— 2

dy o
15. T‘—B_r cotx=sin2x; y=2 when x =
dx

NS
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Solution:
Given

dy
d— — 3ycotx = sin2x

This is equation in the form Df dx “+py=Q

Where, p =-3cot x and Q =sin 2x
1
Now, I.F. = E_rpdt — a3 [cotxdx _ p—3loglsinx] _ 1 g|51n32{| _

2

Thus, the solution of the given differential equation is given Bv the relation
y(LF) =S (Qx I-F.)dx+ C

1
= 51112:{
Y. sin3x J- [

= ycosec®x = 2 J-(cutxcusecx)dxﬂ— C

dx + C

On integrating we get
= y cosec’x = 2cosecx + C

2 3
=y = cosec’x cosec¥x
=y =-2sin’x + Csin’x.............1

=]

Now, it is given that y = 2 when x = 2

Thus, we get,

2=-2+C

=0C=4

Now, Substituting the value of C=4in 1, we get,

y = -25in’x + 4sin’x

= y = 4sin®x - 2sin’x

Therefore, the required general solution of the given differential equation is
y = 4sin®x - 2sin’x.

16. Find the equation of a curve passing through the origin given that the slope of the
tangent to the curve at any point (x, y) is equal to the sum of the coordinates of the
point.

Solution:
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Let F(x, y) be the curve passing through origin and let (x, y) be a point on the
curve. &

We know the slope of the tangent to the curve at (x, y) is 5

According to the given conditions, we get,

dy

EZX-F}’

On rearranging we get
dy

_— — — =X

dx
- . 4
This is equation in the form Dfd_i +py=0Q
Where, p=-1and Q=x :
Now, I.F. = e/Pdx — of(-1)dx _ o
Thus, the solution of the given differential equation is given by the relation:
y(LE) = J(Q@X LE.)dx +C

=ye ™= [xe¥dx+C 1

—X Jur _ —X Qe d —x
Nc:w,fxe dx=x[e*dx f[dx(x).fe dx | dx

On integrating
=x(e ™) — J-(—e‘x)dx

=x(e™) + (—e™¥)

=—eF(x+1)

Thus, from equation 1, we get,

= ye F=—eFx+1)+C

=y=-(x+t1)+Ce*

=x+y+1=Ce"..... 2

Now, it is given that curve passes through origin.
Thus, equation 2 becomes

1=C

=>C=1

Substituting C = 1 in equation 2, we get,
X+y—1=¢"

Therefore, the required general solution of the given differential equation is
X+y-1l=¢*
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17. Find the equation of a curve passing through the point (0, 2) given that the sum of
the coordinates of any point on the curve exceeds the magnitude of the slope of the
tangent to the curve at that point by 5.

Solution:

Let F(x, y) be the curve and let (x, y) be a point on the curve.
We know the slope of the tangent to the curve at (x, y) is g
According to the given conditions, we get,

dy +5 +

dx —XTy

On rearranging we get
dy
— —yv=x%x—5

— d}{ X

dy
This is equation in the form of 3, T PY =Q

Where, p=-1and Q=x-5
Now, LF. = el Pdx = of (F1)dx _ o=

Thus, the solution of the given differential equation is given by the relation:
y(LF) = J(Qx LF.)dx+C
=ye ¥ =[(x—5)e¥dx+C__ 1

Now, [(x—5)e ™ dx = (x—5) [ e dx— [ [i (x—5).[e™™ dx] dx

= x-5)(e™) - [ (-e™)a
On integrating we get
=(x—5)(e™)+ (—e™)
=(4—-x)e™™

Thus, from equation 1, we get,
=ye ™ =(4-x)e*+C
=y=4—-x+Ce"
=x+y—4=_Ce

Thus, equation (2) becomes:

0+2-4=Ce°
=-2=C
=>C=-2

https://byjus.com


https://byjus.com/?utm_source=pdf-click
https://byjus.com/?utm_source=pdf-click

NCERT Solutions For Class 12 Maths Chapter 9

m BYJ U'S Differential Equations

The Learning App

Substituting C = -2 in equation (2), we get,

X+y—4=-2¢e"

>y=4-x—-2e"

Therefore, the required general solution of the given differential equation is
y=4—-x-—2¢e*

dv

18. The Integrating Factor of the differential equatiorv— — y = 2x7 s
dx

A.e™ B.e” C.1/x D. x

Solution:

C.1/x

Explanation:

Given
dy 5.2
X = 2X
On simplification we get
d
= A 2x
de x

This is equation in the form Df% +py=0Q
Where, p =-1/x and Q =2x '

Now, I.F. = afpdx _ Ef—;tdx — alogx™") — -1
Hence the answer is 1/x

1

X

19. The Integrating Factor of the differential equation

FL- 12\]&;_"+ yXx :.f{.\'{—] < ¥< 1) is
dy

1
(A) 2

I I

Solution:

( D} 2
NIE v
https://byjus.com
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Explanation:

Given
(1-y) T +yx=ay
On rearranging we get
N @ N yx___ &
dx 1-y?2 1-—y? iy
This is equation in the form of -+ py = Q

¥ a

Where, p=1-¥*and Q=1-v"

Now,

LF. =

lng[—-—]
v 1 |
E_rpdy _ E.rl_yzd}' _ EElug{l—yz} —a u[i—yz]
1

Va-y?)
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MISCELLANEOUS EXERCISE PAGE NO: 419

1. For each of the differential equations given below, indicate its order and degree (if
defined).

1%y v Y
(1) — +5.1‘[{—" =6y =l0gx

dx? dx
yY (dyY
(11) sl -4 al +Ty=smx
dx dx ;
odty .n’ﬂﬁ}-‘} o
———5SI =
U dx* dx’
Solution:
(i) Given
dZy

2

=T 5){(%) — 6y = logx
On rearranging we get

d? dy’
d—X};—FSX(d—D —6y —logx=0 2
We can see that the highest order derivative present in the differential is E
Thus, its order is two. It is polynomial equation in a2y

The highest power raised to 4%y is 1. @

. , dx?
Therefore, its degree is one.

(i) Given
(%)3 —4 (g)g + 7y = sinx

The above equation can be written as
2

dyy®  dy |
(E) —4(E) + 7y —sinx=0

. . . . R |
We can see that the highest order derivative present in the differential is d—i
Thus, its order is one. It is polynomial equation in &
. : dy .
The highest power raised to d—i is 3. dx
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Therefore, its degree is three.

(iii) Given

dxt —sin (dx') =0

The above equation can be written as
d%y dy\”

—+5x( ) —6y—logx=0

dx? dx y &%

We can see that the highest order derivative present in the differential is %
Thus, its order is four. The given differential equation is not a polynomial
equation.

Therefore, its degree is not defined.

2. For each of the exercises given below, verify that the given function (implicit or
explicit) is a solution of the corresponding differential equation.

L
; . d°y ,dy )
(1) xy=ae" +be*+x : x——+2——xy+x"—-2=0
' dx” dx
2
3 _ d°y _dy
(1) y=¢€ (acosx + bsinx) ——2—+2y=0
' dx” dx
u’z
(i) y= x sin 3x +9y—6¢c0s3x=0
dx’
; 2 2 ﬂr_‘,'
(iv) @ =2y*logy : (7 +y)——xy=0

dx

Solution:
(i) Givenxy=ae*+be™+x’
Now, diﬁerentiating both sides with respect to x, we get,

d}r 4 d —X 2
Y s (@b (e 4 ()
d}’ _
= —=ae"—be™ +2x
dx

Now, again differentiating above equation both sides with respect to x, we get,
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d | d . e
E[F)—E(ae—be + 2x)

d?

Z}d_}j;: ae*+ be ™+ 2
dy dzy
Now, Substituting the values of dx’ and 4=? in the given differential equations,
we get,
We have
LHszx%-l—Eg—xy-l—xz -2

=x (ae* +he™ + 2) + 2(ae*- be™ + 2) —x (ae* +he™ + x*) + x* - 2

= (axe* +hxe™ + 2x) + 2(ae* - be™ + 2) —x (ae* +he™ + x*) + x* -2

= 2ae" -2be™ +x% + 6x -2

=0

= | HS = RHS.

Therefore, the given function is not the solution of the corresponding
differential equation.

(if) Giveny =e*(a cos x+ b sin x) = ae*cos x + b e*sin x
Now, differentiating both sides with respect to x, we get,

dy d d ..
e aEI:E COSX) + bﬁ(e sinx)
dy
== a(e*cosx— e*sinx) + b. (e*sinx + e*cosx)

On rearranging we get
d
= d_i = (a+b)e*cosx + (b — a)e*sinx

Now, again differentiating both sides with respect to x, we get,
2

d-y d d .
e (a+ b).ﬁ(e cosx) + (b — a)ﬁ (e*sinx)
Taking common

= (a+ b).[e*cosx — e*sinx] + (b — a)[e*sinx + e*cosx]

Simplifying we get

= e*[acosx — asinx + bcosx — bsinx + bsinx + bcosx — asinx — acosx]

= [2e*(bcosx — asinx)]
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dy d*y
Now, Substituting the values of dx’ and d=* in the given differential equations,
we get,
d*y dy
|_ngdxzﬂ— de+2y

=2e*(b cos x —asinx) -2e*[{a + b) cos x + (b —a) sin x] + 2e*(a cos x + b sin x)
=e*[(2bcosx — 2asinx) - (2acosx + 2bcosx) - (2bsinx — 2asinx) + (2acosx + 2bsinx)]
=e*[(2b—2a—2b + 2a) cos x] + e*[(-2a — 2b + 2a + 2bsinx]

=0 = RHS.

Therefore, the given function is the solution of the corresponding differential
equation.

(iii) It is given that y = xsin3x
Now, differentiating both sides with respect to x, we get,

9V _ 9 <sin3x) = sin3x+ x.cos3x.3
— = —(xs5in3x) = sin3x + x.cos3x.
dx dx
= —F = 8in3x + 3xXcos3x
dx
Now, again differentiating both sides with respect to x, we get,
d’y d d
- dx (sin3x) + 3 I (xcos3x)
d%y .
= i 3x083x + 3[cos3x + x(—sin3x). 3]
On simplifying we get
d%y
= —— = 6C083X — 9Xsin3x
dx?

dZy
Now, substituting the value of dx® in the LHS of the given differential equation,
we get,

d?y

a2 + 9y — 6c053x

= (6.c0s3x — 9xsin3x) + 9xsin3x — 6cos3x
=0 =RHS

Therefore, the given function is the solution of the corresponding differential
equation.
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(iv) Given x* = 2y* log y

Now, differentiating both sides with respect to x, we get,
d

2x = 2. ax V' logy)

Using product rule we get
dy ,14d
=X = [Ey.logy.£+ y §d_
dy
= X = i (2ylogy + y)
dy X
—ax v(1+ 2logy)

dy
Now, substituting the value of dx in the LHS of the given differential equation,
we get,

dy X
2 2 e — 2 2 _
(x*+y )dx xy = (2y“logy +y )'y(l+21ﬁgy) Xy
X
_ 2 _
=y (1+210gy)'y(1+zlﬂg}r) Xy
= Xy =Xy
-0

Therefore, the given function is the solution of the corresponding differential
equation.

3. Form the differential equation representing the family of curves given by (x —a)? +
2y?2 = a%, where a is an arbitrary constant.

Solution:
Given (x—a)* + 2y* = a*
= x*+a’—2ax+2y*=a’

= 2y? = 2ax—¥..........1
Now, differentiating both sides with respect to x, we get,
dy 2a-—2x
2y— =
dx 2
On simplifying we get
dy a—x
—_— — =
dx 2y
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dy  Z2ax—2x°

dx axy L2
So, equation (1), we get,
2ax = 2y* +x°
On substituting this value in equation 2, we get,
dy 2y®+x®— 2x°
dx 4xy
dy 2y*—x?
dx 4xy
Therefore, the differential equation of the family of curves is given as

dy  2y°—x°

dx dxy

4. Prove that x? — y? = ¢ (x2 + y?)? is the general solution of differential equation (x3>-
3xy?) dx = (y>-3x%y) dy, where c is a parameter.

Solution:
Given (x*=3xy?) dx = (y*—3x%y) dy
On rearranging we get
dy x® —3xy?
dx  y-3xfy 1
Now, let us take y = vx for further simplification

On differentiating we get

d d
ﬁﬁ(}’)=£(ﬂi)

Now, substituting the values of y and dv/dx in equation 1, we get,
dv x*— 3x(vx)?

dx  (vx)® — 3x2(vx)

Taking common and simplifying we get

. dv  1—3v?

= vix—=

dx v3—3v
dv 1 — 3v?

= xXx— = v

dx  v3—3v
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Taking LCM and simplifying we get

dv 1—3vZ—v(v?—3v)
—ax v3—3y

dv  1—3v*
X T vi—3v

v3 —3v i dx
—“\1-3v¢+)" T %
On integrating both sides we get,
w33y .
f( )dv= logx + logC 5

1—3v=

Splitting the denominator
v¥_3v v vdwv
Now, / (1—av4) dv= [ dv-3]

1—we

= [ (‘-’3_31.=)dv = I, — 3l where I, = | 1—v

1-3v3
let1—v*=t
On differentiating we get

4 g a4y _ ot
=}dv[:1 v)_dv

g3 &
= L T dv
vidy=-2
= 4
I P _ oyt
Nc:w,ll_ T = 410gt— ‘Llﬂg(l v®)

vdv vdv
and 1, = J- 1—v4 J- 1—(v2)?

Letvi=p

dvandl, = [—

Differentiating above equation with respect to v

d dp
vy = &
= dv (v°) dv

dp
==g
dp
= vdv = >

Using these things we get
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14v?
1—vw

1 dp 1 1+p| 1
e e
P 2)1-p2 2x2 "Cli—-pl 4

Now, substituting the values of |; and I; in equation (3), we get,

v? -3y 1 o 3, |1+V
f(l_vé)dv——glog(l—v )—Elog 2
Thus, equation (2), becomes,

1 W 3 [1+v? ,
—Elﬂgl[l—v )—Elﬂg [ v2 = logx + logC
1 1+v2)\?]
Z}_Elﬂg[(l_vﬂ(l—vz) =logC'x
(1+v2)* '

=1 m = (CIX)_‘L

Computing and simplifying we get
2, 4

Y
(1+X—2) 1
—s,

X
= (= V)2 = O + )
= (X —y’) = C*x* +y)
= (x2—y?) = C(x? +y?), where C = C"?
Therefore, the result is proved.

5. Form the differential equation of the family of circles in the first quadrant which
touch the coordinate axes.

Solution:
We know that the equation of a circle in the first quadrant with centre (a, a) and radius
a which touches the coordinate axes is (x -a)? + (y —a)> = a% ............ 1

Now differentiating above equation with respect to x, we get,
2(x-a) + 2(y-a) dy/dx =0

= (x—a)+(y—a)y' =0

On multiplying we get

=>x—a+yy —ay' =0

=>x+yy —a(l+y’)=0
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YA

a,a)

N

b
o = X
Therefore from above equation we have
x+yy!
= 3= 1+y/

Now, substituting the value of a in equation 1, we get,

X+ yy X +yy ? X +yy ’
[ (1+y)l [ (1+1~”) =(1+1~”)
Taking LCM and simplifying we get
_ vy 2+[F—X]2= (Xﬂw’)z

1+y 1+y 1+y
= (x-y)2y? + (x—y) = (x+yy')?
= (x—yPI1+ ()] = (x+yy')

Therefore, the required differential equation of the family of circles is

(x =y [1 + (V)] = (x +yy')?

6. Find the general solution of the differential equation

Solution:
Given

dy ||1—1r'Z _
dx T 1-x2 0

On rearranging we get
dy J1I—y?

dy
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On integrating, we get,
sin"ly=sin"'x+C
= sinx +sinly=C

7. Show that the general solution of the differential equation
is given by (x +y + 1) = A (1 - x -y - 2xy), where A is parameter. dx

Solution:

Given

dy y2+y+1 i
E «Z4utl
On rearranging

dy yvi+y+1
= — = —
dx X24+x+1
Separating the variables using variable separable method we get
dy —dx
— =
yi+y+1 x?+x+1
dy dx
= + =0
yvi+y+1 x2+x+1
Taking integrals on both sides, we get,

J’ dy J’ dx
+ =C
yi+y+1 x2+x+1

ﬁf(F+%)2+(E)z+f(x+1)g+(ﬁ)z -

2 2 2

On integrating we get

1 1
2t ‘1F+i+2t‘1XJri C
= —tan —tan
G BB B
2 2
2v+ 1 2x+ 1
= tan~?! [F—r +tan‘1[ = ]=
V3 V3

Using tan™ formula we get
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3 3 V3
= v _ Vs
I PR T |
_ V3 T V3
2x+2y+ 2
xroyrs =
= tan~! V3 c

3

l_(-%xy-l—Zx—l—Zy—l— 1) T2

Computing and simplifying we get

4 2V3(x+y+1) V3
= tan =—0C
3 —4xy—2x—2y—1 2
| 2V3(x+y+1) V3
= tan =—
2(1—x—y— 2xy) 2
[3(x+y+ 1) V3
= = tan —C
(1—x—y—2xy) 2
VELY
Let tan (?C) =B
Then,
+y+1 2B 1 2
X+y —ﬁ( X—y —2xy)

2B

Now, let A = V3 is a parameter, then, we get
Xx+y+1=A(1l—-x—y— 2xy)

8. Find the equation of the curve passing through the point (0, t/4) whose differential

equation is sin x cos y dx + cos x sin y dy = 0.

Solution:

Given sin x cos y dx+ cos xsiny dy =0
Dividing the given equation by cos x cos y we get

=
COSXCOSY

On simplification we get
= Tanxdx+tanydy=0

So, on integrating both sides,

sinxcosydx + cosxsinydy

we get,
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Log (sec x) + log (secy)=log C

Using logarithmic formula we get

= Log (secxsecy)=logC

= Secxsecy=_C

The curve passes through point (0, i/4)

Thus, 1 xv2=C

=C=v2

On substituting C = V2 in equation (1), we get,
Secxsecy=V2

1
= secx.—— = /2
cosy
secx
— COSY = —
y 2

Secx

vz

Therefore, the required equation of the curve is COsy =

9. Find the particular solution of the differential equation (1 + e**) dy + (1 + y?) e* dx =
0, given that y =1 when x = 0.

Solution:
Given (1 +e®)dy+(1+y}) e*dx=0
Separating the variables using variable separable method we get
dy e*dx
= +
1+y?2 1+ex
On integrating both sides, we get,

_1 e¥dx .
tan'y+ [ 5=C
lete* =t
= e =17

On differentiating we get

d dt
= &%) =5

3{_dt
= e ==
= e*dx = dt

Substituting the value in equation (1), we get,
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tan~ly + J- a C
an =

YTl 1y e
=tanty+tantt=C=tan*y+tan™* (") =C ...co....... 2

Now,y=1latx=0

Therefore, equation (2) becomes,

Tant1l+tan1=C

TII+TL'
— — — =
4" 4
C T
—] = —
4

Substituting c = /4 in (2), we get,

tan™ y + tan

C

I{Ex} :E

10. Solve the differential equation V ¢ Ydx=

Solution:
Given

yevdx = (xe§ + y? ) dy

On rearranging we get

*dx

X

= yeyd—y= xey + y?

Taking common

bg-o-v
= eV|y.o-—X| =¥
dy

dx
o e
. ¥

=1

Differentiating it with respect to y, we get,

d(;)_dz
dy € Cdy
;d(};)
= ey, — | —
dy \y

2 3"';15_:" dz
— a¥, ¥ [ g—

},Z

_dz
_dy

dy

https://byjus.com
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From equation (1) and equation (2), we have
dz

d_y =1

= dz =dy

On integrating both sides, we get,

I=y+C

=~;e§=y+C

11. Find a particular solution of the differential equation (x — y) (dx + dy) = dx — dy,
given that y = -1, when x = 0. (Hint: put x—y =1t)

Solution:
Given (x—v) (dx + dy) = dx — dy

= (x—y+1)dy=(1-x+vy)dx
On rearranging we get
dy 1—-x+y
= — =
dx x—y+1
dy  1-(x-y)
dx  1+(x+y) |
letx—y=t
Differentiating above equation with respect to x we get
d(x—y) dt
dx  dx
dy dt
dx  dx
dt dy
dx dx

=1

=1

dy
Now, let us substitute the value of x-y and dx in equation (1), we get,
dt 1—-t
g
On rearranging we get

dt—l (1—1:)
i 1+t
dt (1+t)—(1—1)

T ax 1+t
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dt 2t

Z}E:

1+t

1+t
Z}(T)dt=2d}l

=}(1+

On integrating both side, we get,

2) dt = 2dx

t+log |t]

=%+ C

= (x—y) +log [x—vy]|

Now,y=-1latx=0
Then, equation (3), we get,
log1=0-1+C

=C=1

=2+ C
= log |x—y|=x+y+C......

3

NCERT Solutions For Class 12 Maths Chapter 9
Differential Equations

Substituting C = 1in equation (3), we get,

Log |[x—v]|

=Xx+vy+1.

12. Solve the differential equation

Solution:
Given

[E—zvx v ]
— =
VX WVx

On rearranging we get

dy

=x+y+1
Therefore, a particular solution of the given differential equation is log |x—y|

d:-::l

dy e~V g
dx N \."E \."E
d —2 '.,E
LBy
dx \."E

This is equatlon in the form Df dt

Where, p = Viand Q=

1

e

—ZuK

—
VX

ENE

A

+py=Q

—lhi{}}
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fldx

—_ —
'-,'E s EE'\.'}:

dx _
Now, |F. = e/ P& =e
Thus, the solution of the given differential equation is given by the relation

y(LF)=J(@x LE.)dx+C

— e 2Vx -
e [ (o

VX

= ye2Vx = J-idx+ C
VX

On integrating we get
= ye2V¥=2x+ C

'Er.'
13. Find a particular solution of the differential equation E" y cotx = 4xcosecx
(x # 0), given that y = 0 when x = t/2

Solution:
Given

d
d—i + ycotx = 4Xcosecx

d
Given equation is in the form Dfd_i +py=Q
Where, p = cot x and Q = 4x cosec x

Now, I.F. = E_rpdx — Efcot:-:dx — Elog|51n:-.'| = sinx

Thus, the solution of the given differential equation is given by the relation
v(LF) = J(@X LE)dx+C

= ysinx = J- 2xcosecxdx + C

=-’-}J-xdx+c

On integrating we get
2
—2% 4
2

= ysinx = 2x% + C
T

Now,y=0atx=z2

Therefore, equation (1), we get,
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2
DZEK:—FC
=C=""

4 z

m

Now, substituting C = 4 in equation (1), we get,
2z

1o

ysinx= 2x?— —

Therefore, the required particular solution of the given differential equation is
2

ysinx= 2x2 — “:

2e 7 —1

14. Find a particular solution of the differential equation, (X "

given thaty=0when x=0.

Solution:
Given

W _ oa-v _
(X-I—l)dx—ze 1

On rearranging we get

dy dx
— =
2ev—1 x+1
e¥dy  dx

2—e¥ x+1
On integrating both sides, we get,

fﬂ = log|x + 1| +logC

IS g 1
let2 —e¥ =t
d dt
-'-d—FEE—E}') =d_}’
= —e¥ = E
dy
= e'dt = -dt

Substituting value in equation (1), we get,
—dt
~ = log|x+ 1| + logc

On integrating we get

= -log |t| =log | C(x+1)|

= -log|2—-¢e'| =log |C(x+1)|
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1
= C(x+1
:"2—&}' (x )

Now, at x =0 and y =0, equation (2) becomes,

=2-1= E
=C=1
Now, substituting the value of C | equation (2), we get,
=2 =51
= e¥=2— -
(x+ 1)

2v+2—1
— Y T TG+
eV 2x +1

(x+1)

2x+1

=y= lﬂg| 11 |,(x¢ —1)
Therefore, the required particular solution of the given differential equation is

2x+1
V= ln:rg| T 1 X = —1)

15. The population of a village increases continuously at the rate proportional to the
number of its inhabitants present at any time. If the population of the village was 20,
000 in 1999 and 25000 in the year 2004, what will be the population of the village in
2009?

Solution:
Let the population at any instant (t) be y.
Now it is given that the rate of increase of population is proportional to the
number of inhabitants at any instant.
dy

dy
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Where k is proportionality constant.

i
— Y kar
y

Now, integrating both sides, we get,
logy=kt+C...... 1

According to given conditions,

In the year 1999, t =0 and y = 20000

= log20000=C..........2

Also, in the year 2004, t =5 and y = 25000
= Log 25000=k.5+C

= log 25000 = 5k + log 20000

25000 5
— 5k = lﬁg(znnnﬂ) = log (E)

=k = ilﬁg@ ......... 3

Also, in the year 2009, t =10
Now, substituting the values of t, k and c in equation (1), we get

LogY =10 x 2log (%) + log(20000)

5
= logy = lﬁglzﬂﬂﬂﬂ X (E) ]

5 5
=y = 20000 X X

=y =31250
Therefore, the population of the village in 2009 will be 31250.
ydx —xdx

16. The general solution of the differential equation ———— = 0 is
A.xy=C B. x = Cy? C.y=Cx D.y=Cx2 Y

Solution:
C.y=Cx

Explanation:

Given question is
ydx — xdx
_— — =

Xy
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On rearranging we get
1 1

= —dx——dy=10
X y

Integrating both sides, we get,
Log |x| -log |y| =logk

_ lﬁglil = logk

X

2ok
=¥
V=%

1
= y=Cxwhere C=k

NCERT Solutions For Class 12 Maths Chapter 9
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dx
17. The general solution of a differential equation of the type — + P,.r = Q1 is

dy

Ry il Vi j(Q,eJ"" ) dy+C

B 5.7 [(Qel") acsc

©) xel®® =[(Qel**)ay+C
(D) xel®%= 1(Q|£"|P1 dr]-:ir+("
Solution:

05 O J-(Qw‘" . ] dy+C

Explanation:

The integrating factor of the given differential equation :—: +Px=0Q,

. P, d
ISEJ" 14y

Thus, the general solution of the differential equation is given by,
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x(LF.) = J-[Qx LF.)dy + C

= x. e/ P1dy = J-(Qlefpldl")dy-l— C

18. The general solution of the differential equation e*dy + (y e* + 2x) dx =0 is
A.xey+x*=C B.xey+y?=C C.yex+x*=C D.yey+x*=C

Solution:
C.yex+x?=C

Explanation:
Given e*dy + (ye* + 2x) dx =0
On rearranging we get
=}e"E+ e*+2x =0
dx y

dy
= —+y=—2xe"

dx dy
This is equation in the form of 3z T PY = Q
Where, p=1and Q = -2xe™

Now, I.F. = e/ PH = el &% — ex

Thus, the solution of the given differential equation is given by the relation
y(LF)=J(Q@x LE)dx+C

= ye* = J-(—er‘*‘.ex)dx-l— C

=>ye"=—f2:{dx+c

On integrating we get
= ye*=-x*+C
S vye*+x'=C
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